ARV A SLR-J -1

Seat
No.
B.B.A. — | (Semester — I) (New CGPA Pattern) Examination, 2015
PRINCIPLES OF MANAGEMENT
Day and Date : Wednesday, 15-4-2015 Max. Marks : 70

Time: 11.00 a.m. t02.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figure to the right indicate full marks.

1. A) Choose the correct alternative : 7
1) is the art of getting things done through other people.
a) Planning b) Management
c) Organising d) Controlling

2) is a process by which manager guides and influences the
work of his subordinates.

a) Organising b) Motivation c) Leadership d) Controlling

3) is the right to give orders and power to exact the obedience.
a) Authority b) Power
c) Responsibility d) None of these

4) is the systematic evaluation of individual with regard to his/
her job performance.
a) Training b) Recruitment
c) Selection d) Performance appraisal

5) needs satisfies the need of self image, self respect and

prestige of an employee.
a) Security b) Safety c) Esteem d) None

6) A function concerned with manning the enterprise is called as
a) Directing b) Staffing c) Controlling d) Planning

7) Comparing the actual performance with planned one, to ensure the absence
of deviation between two, is called as

a) Management b) Planning c¢) Staffing d) Controlling
P.T.O.
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B) Fill in the blanks : 7

1) is determining the future course of action in advance.
2) can’t be delegated or transferred.

3) level management prepares plans and strategies limited to single
department.

4) Theory ‘Y’ of motivation was proposed by

5) control involves evaluation of inputs and taking corrective
actions.
6) is an ability to influence people.
7) deals with encouraging candidates to apply for the job.
2. Write short notes (Any 2) : 14

1) Performance Appraisal
2) Types of plans
3) ‘Theory 2’ by Willian Ouchi.

3. Write short notes (Any 2) : 14
1) Trait approach to leadership
2) Delegation of authority

3) Organisation structure.

4. Define Management. Explain the functions of Management in detail. 14
OR
Define Controlling. Explain the steps in control process. 14

5. Define Motivation. Explain the various motivational techniques used in organisation. 14
OR

Define Staffing. Explain the steps in selection process. 14
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Seat
No.
B.B.A - | (Sem. - 1) (Old) Examination, 2015
BUSINESS ORGANIZATION AND SYSTEM
Day and Date : Friday, 24-4-2015 Max. Marks : 80

Time:11.00 a.m. t0 2.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternative. 8

1) If automobile company merge with IT company is example of

merger.
a) Vertical b) Horizontal
c) Conglomerate d) Concentric

2) SEZ stand for

a) Special Economic Zone b) Special Expert Zone

c) Starting Entrepreneur Zone d) Special Enterprise Zone

3) A comes indirect contact with consumers.

a) Wholesaler b) Retailer c¢) Producer  d) None of these

4) The trade which is conducted between two contries is called

a) External b) Internal c) Special d) None of these

5) Gradual reduction in international trade barries lead to

a) Globalization b) Export

c) Privatization d) Reform

6) InIndia Railway’s are owned and managed by

a) Private companies b) Government

c) Individual d) None of these
P.T.O.
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7) industry is related with drawing of goods from the beneath
the earth.
a) Extractive b) Construction
c) Secondary d) All of these

8) is a form of business that is owned and controlled by
individual.
a) Sole Proprietorship b) HUF
c) Joint Stock Company d) Partnership

1. B) State whether the following statements are true or false :
1) Sole trader has weak bargaining power.
2) Joint stock companies form of business has a distinct legal entity.
3) Merger means to sell the company.
4) Wholesalers conduct trade on bulk basis.
5) Transportation creates place utility.
6) Super market is small scale industry in retailing.
7) Each for all and all for each is the principle of Co-operative Society.
)

8) In a partnership the liability of every partner of a firm is limited.

2. Write short note :

a) Sole proprietorship
b) LPG.

3. Write short note :
a) Aidtotrade
b) Merger and Acquisition.

4. Longanswer:
What is meant by business ? Discuss in detail the scope of business.
OR
Discuss various factors to be considered for setting up new business unit.

5. What is retail trade ? Explain the functions and types of retailing.
OR
Define Joint Stock Company. Explain it's merits and demerits.

16

16

16

16
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Seat
No.
B.B.A. — | (Sem. — lI) (New) Examination, 2015
BUSINESS ENVIRONMENT (CGPA Pattern)
Day and Date : Thursday, 16-4-2015 Max. Marks : 70

Time:11.00a.m. 10 2.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternatives : 7
1) Size, age, structure are factors of environment.
a) Legal b) Demographic
c) Cultural d) Economical
2) Ina economy there is a co-existence of private and public sector.
a) Capitalist b) Mixed c) Socialistic  d) None of the above
3) means integrating the domestic economy with world economy.
a) Privatisation b) Globalisation
c) Liberalisation d) Nationalisation
4) Right of equality is right.
a) social b) fundamental
c) cultural d) individual
5) is a macro factor of internal environment of business.
a) Mission b) Value c) Supplier d) Objectives
6) is the factor of economic environment.
a) Executive b) National Income
c) Politics d) None of the above
7) creates people through business.
a) Culture b) Economics
c) Law d) Technology

P.T.O.
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B) State the following statement true or false :

1) Aresponsibility of business organisation towards shareholders, employees

and the government is known as social responsibility.
2) Free Trade Policy is necessary for globalisation.

3) Liberalisation means restrict industry, trade and commerce to doing the

business.
4) Mission and objectives are the factors of External Environment.
5
6
7) Indian Economy is a capitalist economy.

Language and religion are the elements or cultural environment.

)
)
)
)

2. Write short notes (any 2) :
a) Features of Technology
b) New Industrial Policy
c) Demographic Environment.

3. Write short notes (any 2) :
a) Economic Factors
b) Social Responsibility of Business
c) Globalisation.

4. a) Define Business Environment. Explain its external environment in detail.

OR
b) Define political environment. Explain constitution of India in detail.

5. a) Whatis New economic policy ? Explain its components in detail.
OR

b) What is Social Environment ? Explain impact of social environment on
business.

An exploitation of customers is the social responsibility of a business.

14

14

14

14

14

14
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Seat
No.
B.B.A. (Semester - lI) (CGPA Pattern) Examination, 2015
BUSINESS COMMUNICATION - Il (New)
Day and Date : Saturday, 18-4-2015 Max. Marks : 70

Time: 11.00 a.m. t0 2.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select correct alternative : 7
1) is a gathering of journalists and press reporters.
a) Press conference b) Demonstration
c) Dramatisation d) Meetings
2) means a phrase which is confused oftenly in communication
but has no meaning.
a) Jargon b) Verbosity c) Cliche d) Preposition
3) Fax means
a) Pac simile b) Fad simile c) Tax simile d) Facsimile
4) records the necessary message for the receiver when receiver
is not at his place.
a) Voice mail b) Internet
c) Video conferencing d) E-mail
5) An exit interview is taken when
a) An employee resigns b) An employee joins
c) An employee is in service d) An employee seeks promotion
6) The flow of information from the lower level to the upper managerial level is
called
a) Horizontal b) Upward
c) Downward d) Diagonal
7) Rumour is an essential part of communication.
a) Formal b) Non-verbal
c) Grapevine d) None of these

P.T.O.



SLR-J-12 ARV A

B) State whetherTrue or False : 7
1) Conflicts refers to settlement of arguments.

2) Clarity, brevity, sequences are the principles of effective oral
communication.

3) Negotiation means in which two designated representatives meet in order
to resolve this differences and reach an agreement.

4) E-mails are not used much in business communication.

5) The objective of interview is to select the candidate.

6) Public relation refers to direct contacts and dealing with public.
7) Listening is not a part of good communication.

2. Write short notes (any 2): 14
A) Public relations.
B) Negotiations.
C) Types of interviews.

3. Write short notes (any 2): 14
A) E-mails.
B) Grapevine.
C) Extempore.

4. What are the various formal and informal channels of communication in business

organisations ? 14
OR

What is seminar ? What preparations you will make to conduct a seminar ? 14

5. Define oral communication. Explain in detail medias of communication. 14
OR

Define speech. Explain various techniques of effective speech. 14
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Seat
No.

B.B.A. — | (Semester — Il) (New CGPA Pattern) Examination, 2015
COST ACCOUNTING

Day and Date : Tuesday, 21-4-2015 Max. Marks : 70
Time :11.00 a.m. to 2.00 p.m.

Instructions : All questions are compulsory.
Figures to the right indicates full marks.
Use of calculator is allowed.

1. A) Choose correct alternative :

1) Maximum Rate of Consumption multiplied by Maximum Delivery Period,
we get level.

a) Maximum b) Minimum c) Reorder d) Average

2) Fixed Cost + Profit =
a) Contribution b) P.V.Ratio c¢) Variable Cost d) Sales

3) price is the average of the prices of consignments lying in
the store at the time of issue.
a) Weighted Average b) Market
c) Simple Average d) Moving Average
4) plan is also called as 50-50 sharing plan.
a) Halsey Weir b) Rowan c) Halsey d) Barth Sharing
5) means the place where the materials are stored for issue.
a) BinCard b) Store ledger
c) Production Department d) Bin
6) Economic Order Quantity is also called as
a) Reorder Quantity b) Reorder level
c) Order level d) Danger level
7) Depreciation is a example of cost.
a) Variable b) Semivariable c) Semi Fixed d) Fixed

P.T.O.
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B) Fill in the blanks :

1) Material, labor and expenses are the of cost.
2) means the unit for which cost is expressed.
3) Accordingto incentive plan, bonus is paid at the % of time

saved to time allowed.

4) Factory costis also called as

5) means No Profit No Loss.
6) At level, new order of material is to be placed.
7) Prime cost + Works on cost = (7+7)

2. Write short notes (any two) :
A) Difference between Financial Accounting and Cost Accounting.
B) Labor Turnover
C) Types of Budgets. (7+7)

3. Solveanytwo:

A) Determine EOQ and Number of orders to be placed in a year, from the following :
Monthly usage of material — 2000 kg.
Price per kg. —Rs. 5
Cost of placing one order — Rs. 30
Interest rate 12% p.a.

Rent and other storage charges 8% p.a.

B) Calculate the different stock levels from the following :
Maximum usage per week — 10000 liters
Minimum usage per week — 5000 liters
Normal usage per week — 7500 liters
Minimum delivery period — 3 weeks
Average delivery period — 4 weeks
Reorder quantity — 20000 liters.

C) Write a short note on capital budgeting. (7+7)
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Particulars | Year 2013 | Year 2014

Sales Rs. 5,00,000| 10,00,000

Profit Rs. 50,000 2,50,000

You are require to calculate

1) P.V. Ratio

2) Fixed Cost

3) Break even sales

4) Sales require to earn profit of Rs. 1,00,000
5) Profitwhen sales are Rs. 15,00,000

6) Margin of Safety of 2013 and 2014.

OR
4.
Particulars X Ltd. Y Ltd.
Sales 5,00,000 5,00,000

Variable Cost 2,00,000 3,00,000

Fixed Cost 1,50,000 50,000

You are require to calculate for each company P. V. Ratio and break even sales
and also state which company is likely to earn greater profits in conditions of

a) Heavy demand for a product

b) Low demand for a product. 14
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5. Time allowed to produce 10 units — 1 Hour.
Rate per hour Rs. 50

During a week of 48 hours Mr. Ajit produced 600 units and Mr. Ranijit produced
750 units.

You are require to calculate weekly earning of each worker and earning per hour
accordingto:

1) Halsey Plan
2) Rowan Plan
3) Straight Piece Rate System.

OR

5. Prepare Cost Sheet from the following :
Material consumed Rs. 1,00,000
Direct wages 40% of material
Direct expenses 40% of direct wages
Factory overheads 25% of Prime Cost
Administrative overheads 10% of works cost
Selling overheads Rs. 20,000

Profit 20% on sales. 14
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Seat
No.

B.B.A. — | (Semester — Il) (New CGPA Pattern) Examination, 2015
MANAGEMENT OF BUSINESS SERVICES

Day and Date : Thursday, 23-4-2015 Max. Marks : 70
Time: 11.00 a.m. t02.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 7
1) is the activity or benefit offered by marketer to consumer.
a) Goods b) Ideas c) Service d) Promotion
2) Under which committee’s recommendation IRDA was established
a) Y. K. Reddy b) B. C. Bhushan
c) V.C.Rangnathan d) R.N.Malhotra
3) Services don’t exist for long period of time therefor they are in
nature.
a) Perishable b) Intangible
c) Inseparable d) Heterogenous
4) Discounts, coupons, lucky draws, free gifts etc are the tools of
a) Publicity b) Direct marketing
c) Advertisement d) Sales promotion
5) Telecommunication services are regulated and controlled by
in India.
a) RBI b) TRAI c) IRDA d) NEP
6) In services, itis who play important role in selling services
and satisfying customers.
a) Process b) Price c) People d) Product
7) is a hotel located on highways.
a) Resorts b) Residential hotel
c) International hotel d) Motel

P.T.O.
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B) Fill in the blanks : 7

1 is also called as marketing communication.

w

)

2) NEP was acceptedin by India.
) productlevel satisfies customer needs beyond their expectations.
)

N

is the only ‘p’ of marketing wise which generates revenue

for organisation.
5) hotels are situated on water surface.
6) Related to banking, ATM stands for

7) Dueto feature of services can’t be separated from its producer.

2. Write short notes (Any 2) : 14
a) Goods V/s services.
b) Types of hotel.

c) TRAIl its roles and functions.

3. Write short answers (Any 2) : 14
a) Explain product mix.
b) Highlight the impact of NEP on Indian service sector.

c) Explain the problems in service marketing.

4. Explain the profile of hotel services and promotional policies of hotel services. 14

OR

Explain the product and pricing strategies of banking services. 14

5. Explain the importance of services and its classification in detail. 14
OR

Explain the product and promotion mix of Insurance services. 14
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Seat
No.

B.B.A. — | (Semester — lI) (New CGPA Pattern) Examination, 2015
BUSINESS INFORMATICS

Day and Date : Saturday, 25-4-2015 Max. Marks : 70
Time:11.00a.m. 10 2.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose correct alternative from the given alternatives : 7
1) In Microsoft Word, the shortcut key used to copy the selected text or
document is
a) Ctrl + S b) Ctrl+V  ¢) Cirl+ P d) Ctrl+ C
2) is a set of computer programs used on a computer to
perform tasks.
a) Instruction b) Software c¢) Memory d) Processor

3) Which of the following is used to interpret the information printed on
bank cheques ?

a) MICR b) OMR c) OBCR d) COM
4) Mozilla Fire foxis a

a) Website b) Webpage

c) Web browser d) Operating system
5) is not a component of CPU.

a) Output unit b) Control unit

c) Arithmatic and logic unit d) Storage unit

6) Which of the following device is mostly used by architect to produce high
quality graphics and designs ?

a) Laser printer b) Inkjet printer
c) Dot-matrix printer d) Plotter
7) Desktop and Laptop computers are
a) Microcomputers b) Minicomputers
c) Megacomputers d) Supercomputers

P.T.O.
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B) State true or false :
1) Data can be a number, a word, a picture or a sound.
2) The physical parts of computer is called as software.

3) After applying header and footer on any one page, it will apply to all the

pages in document.

5
6

)
) HTTP stands for Hypertext Transfer Process.

) Output devices stores data and instructions that the CPU processes.
)

for Blind Carbon Copy.

2. Write short note (Any 2) :
a) Internet Application in Business Scenario
b) Characteristics of computer
c) Basic features of ERP.

3. Write short notes (Any 2) :
a) Difference between computer literacy and information system literacy.
b) E-mailand WWW
c) Types of computer.

4. What is computer ? State and explain input and output devices of computer.

OR
State the concept of e-commerce. Explain the types and applications of
e-commerce.
5. What is software ? State and explain types of software.
OR
What is DBMS ? State and explain the functions and advantages of DBMS.

4) The wireless application protocol is used in operation of M-Commerce.

7) In e-mail, while sending message, the address written under BCC stands

14

14

14

14

14

14
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Seat
No.
B.B.A. (Part — 1) (Semester - Il) Examination, 2015
BUSINESS ENVIRONMENT (Old)
Day and Date : Thursday, 16-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternatives : 8

1) In economic system, public and private enterprises co-exists.
a) Capitalist b) Socialist c) Mixed d) All of these

2) Which of the following institution is responsible for establishment of business
laws ?
a) Legislative b) Executive c¢) Judiciary d) None of these

3) A responsibility of business organisation towards customer, share holder,
employees is responsibility.
a) Technical b) Natural c) Demographic d) Social

4) An abolition of un-necessary restrictions and limitations on business by
the government is called

a) Nationalisation b) Globalisation
c) Liberalisation d) Privatisation
5) is a micro factor of internal environment.
a) Suppliers b) Customers c) Financiers d) Mission
6) Technology reaches towards customers through
a) Business b) Religion c) Caste d) Language
7) A demographic environment of business comprises of population.
a) size b) growth c) composition d) all of these

8) Alanguage, religion, customs and traditions are elements of
environment.

a) Natural b) Technical

c) Legal d) Social and cultural
P.T.O.
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B) State whether the following statements are true orfalse : 8
1

2) Adividend payment is the responsibility of business towards employees.

National income is an element of political environment.

3) In socialist economy consumer is the king.
4
5
6) A customer’s satisfaction is the ultimate object of the business.

Business environment is stable.

World Trade Organisation is a global institution.

7) Judiciary is the responsible for the settlement of legal disputes.

)
)
)
)
)
)
)
)

8) A minimum wages act is related to legal environment of business.

2. Write short note : 16
a) Micro factors of business environment.

b) Social responsibility of business.

3. Write short note : 16
a) Impact of liberalisation policy on business environment.
b) Political institutions of democracy.
4. Define business environment. Explain merits and demerits of study of business
environment. 16
OR

Describe the factors of economic environment of business.

5. Discuss the impact of technology on business. 16
OR
What are the responsibilities of the Govt. towards business ?
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Seat
No.
B.B.A. — | (Semester — Il) (Old) Examination, 2015
BUSINESS COMMUNICATION (Paper — Il)
Day and Date : Saturday, 18-4-2015 Max. Marks : 80

Time : 11.00 a.m. t0 2.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternative. 8

1) communication exist between the employees of same rank
or equal status in organisation structure.
a) Vertical b) Upward
c) Horizontal d) Cross

2) Theterminterview has been derived from the french word
a) intrevoir b) entrevoir
C) entreview d) intreview

3) is a process of speaking to a group of people in structured
manner to inform, to persuade or to entertain them.
a) Conference b) Press Conference
c) Seminar d) Public Speaking

4) is the practise of managing the flow of information
between organisation and public.
a) Customercare b) Interviews
c) Public relation d) Conference

5) is a process of bargaining in which two parties try to
reach an agreement.
a) Interview b) Symposium
c) Group discussion d) Negotiation

6) is a form of informal communication channel in organisation.
a) Grapevine b) Conference
c) Seminar d) None of these

P.T.O.
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7) refers to transmission of messages through electronic
media via telecommunication links.
a) Telephone b) Email
c) Fax d) Cell phone

8) interview is undertaken by superior if employees disobey
rules and regulations of organisation.
a) Exit b) Reprimand
c) Appraisal d) Grievance

B) State whetherTrue/False: 4

1) Conflict refers to settlement of arguments.

2) The objective of interview is to recruit the candidates.

3) Public relation refers to direct contact and dealings with the public.
4) Email is the costliest mode of communication.

C) Fill in the blanks : 4
1) is the loud untrue voice.
2) speeches are also called as impromptu speeches.
3) Faxis an abbreviation for
4) communication refers to communication through
speech.
2. Write short notes : 16

a) Grapevine
b) Group decision making.
3. Write short notes : 16

a) EPBAX.
b) Types of interview.

4. Explain the various ways of modern office communication used in business

organisation. 16
OR
What is oral communication ? Explain the principles of effective oral
communication. 16
5. Define speech. Explain the various techniques of effective speech. 16
OR

Explain the various communication channels in an organisation. 16
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Seat
No.
B.B.A. (Part — I) (Semester - Il) Examination, 2015
COST ACCOUNTING (Old)
Day and Date : Tuesday, 21-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

1. A) Choose correct alternative : 8
1) is defined as a unit of product or service, in relation to
which cost are ascertained or expressed.
a) Costcentre  b) Cost unit c) Costcontrol  d) Cost account
2) cost remains constant irrespective of variation in
production.
a) Variable b) Semivariable c) Fixed d) Semi fixed

3) Factory cost + Office on cost =
a) Works cost  b) Prime cost c) Cost of sales d) Cost of production

4) Power, haulage are the examples of overheads.
a) Factory b) Office c) Selling d) Distribution
5) E.O.Q. is also called as
a) Re-order quantity b) Re-order point
c) Re-order level d) Re-order period
6) level is that level of materials in units at which fresh
replenishment order is initiated.
a) Maximum b) Minimum c) Re-order d) Danger
7) analysis is a technique of classifying goods is stores
based on its quantity and value.
a) VED b) ABC c) BEP d) Ratio
8) According to incentive plan, time saved by the
employee is equally shared by the management and worker or employee.
a) Rowan b) Halsey c) Hasey Weir  d) Taylor

P.T.O.
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B) Fill in the blanks : 8
1) Fixed cost + Profit =
2) If profit is 25% on sales means % on cost.
3) time is the time spent in which employee does not

contribute anything to production activity.

4) When the actual overheads are more than absorbed overheads theniitis
referred as absorption.

5) Actual sales (—) Break even sales =

6) Maximum rate of consumption x Maximum delivery period =
level.

7) If annual usage is 40,000 kg and E.O.Q. is 10000 kg the
number of orders to be placed in a year.

8) Indirect material + Indirect labour + Indirect expenses =

2. Write short notes (any 2) : 16
1) Elements of cost.
2) ABC analysis.
3) Break even analysis.

3. A) In a manufacturing company a material is used as below : 8
Maximum usage 12000 units per week
Minimum usage 4000 units per week
Normal usage 8000 units per week
Re-order period 4 — 6 weeks
Re-order quantity 48000 units
Calculate stock levels.
B) Following transactions took place in respect of material. 8
Date Receipts Rate per unit Issues
2-3-14 20 units Rs. 20
10-3-14 | 30units Rs. 24
15-3-14 - - 25 units
18-3-14 | 25units Rs. 26
20-3-14 - - 20 units

Prepare store ledger using simple average method.
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4. Fixedcost Rs. 40,000

Contribution Rs. 60,000

Profit volume ratio 25%
You are require to calculate

1) Contribution

2) Break even sales

3) Margin of safety.
and also prepare income statement when sales are Rs. 5,00,000. 16

OR
4. Following details are available with respect to job performed by two workers
A and B.
Time rate — Rs. 24 per hour
Standard time per unit 30 seconds
Normal time per day — 8 hours
Production in a day — A — 900 units
B — 1200 units.

Calculate the earnings of a worker under.
a) Time wages (flat time rate)

b) Halsey plan

c) Straight piece rate

d) Merricks multiple piece rate system.

5. In afactory there are two service departments. S, and S, and three production
departments P, , P, and P4 In April 2014 the departmental expenses were

Department P, P, Ps S, S,

Rs. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

The service department expense are allotted on percentage basis as follows :
Service Dept. P, P, Ps S, S,

S, 30 40 15 — 15

S, 40 30 25 5 —

Prepare a statement showing distribution of two service department expenses to
three production departments. 16

OR
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5. Particulars 50% level of Activity

Output units 10,000

Cost per units Rs.

Direct material Rs. 10 per unit
Direct labour Rs. 8 per unit
Direct expenses Rs. 2 per unit
Factory overheads (40% fixed) Rs. 6 per unit
Office overheads (all fixed) Rs. 4 per unit
Selling overheads (20% fixed) Rs. 5 per unit
Selling price Rs. 40 per unit

You are require to prepare budget at 60%, 75% and 100% level of activity.
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Seat
No.

B.B.A. — | (Semester - II) Examination, 2015
MANAGEMENT OF BUSINESS SERVICES (Old)

Day and Date : Thursday, 23-4-2015 Max. Marks : 80
Time: 11.00 a.m. t0 2.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 8
1) Equipments are categorised under element of marketing mix.
a) Place b) Price
c) Physical evidence d) Process

2) Banking operations are controlled by

a) TRAI b) GIC c) LIC d) RBI
3) is a type of hotel located on water surface.
a) Residential b) Floating c) Motel d) Resort
4) strategy of pricing deals with setting higher prices while
introducing service in market.
a) Penetration  b) Price bundling c) Differential d) Skimming
5) services helps to industrialise the economy.
a) Infrastructure b) Public c) Trade d) Hotel
6) products are also called as generic products.
a) Expected product b) Core product
c) Potential product d) Augmented product
7) GIC was established in
a) 1956 b) 1991 c) 1972 d) 1935
8) is a tool of marketing mix which helps to tangibalise services.
a) Process b) Product
c) Price d) Physical evidence

P.T.O.
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B) Fill in the blanks :

1) are the activities / benefits offered to consumer to
satisfy their needs.

2) deals with opening the sector for private players which
was restricted to government.

3) is a face to face interaction with prospective buyers for
making presentations and procuring orders.

4

4) Telephone, fax, email, telegraph etc. are the products of service.

C) Match the pairs :

2. Write short answers :
a) What is NEP ? Explain its impact on service sector.

b) Explain the promotion of insurance services.

3. Write short answers :
a) Explain the classification of services.

b) Explain the role and functions of TRAI.
4. What s service ? Highlight its importance in economy. Explain the various reasons
of growth and development of service sector in India.

OR
Explain the management of banking services in detail.

5. Explain the additional 3 P’s of marketing mix of services in detail.

OR

What are the different types of hotels ? And explain the various factors to be
considered in deciding location of hotel services.

4

16

16

16

16
16

16
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Seat
No.
B.B.A. — | (Sem. - I) (CGPA Pattern) Examination, 2015
BUSINESS COMMUNICATION (Paper — 1) (New)
Day and Date : Friday, 17-4-2015 Max. Marks : 70

Time:11.00a.m. 10 2.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate marks.

1. A) Select the correct alternative : 7
1) The process of conversion of the subject matter into symbols is called

a) Encoding b) Decoding c) Both d) None of these
2) is essential for achieving job satisfaction.
a) Business b) Communication
c) Process d) None of these
3) communication is accurate and precise.
a) Written b) Oral c) Facetoface d) None of these
4) communication is not effective in large gatherings.
a) Facetoface b) Oral
c) Written d) None of these
5) The of a letter is as important as its contents.
a) Function b) Physical appearance
c) Planning d) Need
6) letter has the immediate objective of promoting the sale
of a product.
a) Sales b) Order c) Enquiry d) Circular
7) A may be either oral or written.
a) Report b) Communicator
C) Letter d) None of these

P.T.O.
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B) State whethertrue orfalse: 7
1) Glossary is the list of technical words used in the report.
2) Minutes are not precise.

3) Circular letters has common message to large number of customers and

suppliers.
4) The purpose of enquiry letter is to get the information of the goods.
5) Your attitude is not necessary in business letter.
6) Telephonic conversation is called as face to face communication.
)

7) Clarity is not needed in communication.

2. Write short notes (any 2) : 14
A) Written communication its merits and demerits.
B) Functions of Business letter.

C) Importance of communication.

3. Write short notes (any 2) : 14
A) Types of Reports
B) Process of communication

C) Silence its merits and demerits.

4. A) Define communication. Explain barriers of communication in detail. 14
OR

B) Draft the minutes of the first board meeting. 14

5. A) Define Report. Explain principles and types of reports. 14
OR

B) Write an application and bio-data for the job of lecturer in commerce. 14
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Seat
No.
B.B.A. — | (Semester — Il) (Old) Examination, 2015
BUSINESS INFORMATICS
Day and Date : Saturday, 25-4-2015 Max. Marks : 80

Time :11.00 a.m. to 2.00 p.m.

Instructions: 1) All questions arecompulsory.

2) Figures to the right indicate full marks.

1. A) Select the correct alternatives : 8

1) Computer is a combination of input, process and

a) devices b) output c) machines
2) Daizy wheelis the type printer.
a) Impact b) Non-Impact c) Drum
3) Is volatile memory.
a) RAM b) ROM c) Hard disk
4) MIS stands for information system.
a) Management b) Multiple c) Machine
5) MS-Word is an example of software.
a) System b) Application c) None of these

6) Computer can work several years without any failure is known as

a) Versatility b) Diligence c) Accuracy
7) Joystick is type of device.
a) Input b) Output c) Input/Output (both)

8) Business to business, Business to consumers are the models of

a) E-commerce b) MIS c) ERP

P.T.O.
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B) Fill in the blanks : 8
1) EPROM stands for
2) An extension to store word file is
3) The combination key for find a alphabet, word, sentence in MS-word is

4) A combination key for saving word document in MS-Word is

5) Contents are destroyed of when power is turned off.
6) ERP stands for
7) Graphics softwares are purpose application software.

8) First main menuin MS-word 2003 version is

2. Write short notes : 16
a) Internet
b) Functions of DBMS.

3. Write short notes : 16
a) Input Devices
b) Characteristics of computer.

4. a) Explainin detail MS-Word. 16
OR

b) What is software ? Explain various types of software. 16

5. a) Define MIS. Explain major types of information system in organisation. 16
OR

b) Explain in detail MS-Powerpoint. 16
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Seat
No.
B.B.A. — Il (Semester - Ill) Examination, 2015
BUSINESS STATISTICS (New)
Day and Date : Wednesday, 15-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Use of calculator is allowed.
3) All questions carry equal number of marks.

1. A) Choose the correct alternative : 10
1) Which limits are excluded in exclusive method of classification ?
a) Lower limit b) Upperlimit c¢) Both limits d) None of these
2) Tally marks determines
a) Class width b) Class boundary
c) Class limit d) Class frequency
3) The graphical representation of cumulative frequency distribution is called

a) Histogram b) Ogive
c) Botha)andb) d) None of these
4) Which average is affected most by extreme observations ?
a) Mean b) Median c) Mode d) None of these

5) If the mid point of the classes are 8, 12, 16, 20, 24 then the magnitude of
the class interval is

a) 4 b) 8 c) 16 d 24
6) The meanof 1, 3,5, 6, x, 10 is 6. The value of x is

a) 10 b) 11 c) 12 d) None of these
7) Therange of 15,12, 10,5,17,25is

a) 6 b) 13 c) 14 d) 20

P.T.O.
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8) Age of applicants for life insurance and the premium of insurance has
correlation.

a) Positive b) Negative c) Zero d) None of these
9) Correlation can be represented graphically by

a) Histogram b) Scatter diagram
c) Ogive curve d) None of these
10) play a very important part in the construction of Index No.
a) Weights b) Classes c) Estimators d) None of these
B) Fill in the blanks : 6
1) Medianis size of observations.

2) Collection of data from each member of population is known as

3) The standard deviationof 10, 10, 10, 10is

)
4) Meanis 10and CVis40then SDis
5) Regression line of Y on Xis
6) sampling method is used when the population under study
is heterogeneous.
2. A) Define Mean and Mode. State their merits and demerits. (8+8)

B) From the following data, construct histogram and locate mode from it :
Marks: 0-20 20-40 40-60 60-80 80-100
f : 5 12 32 40 11
3. A) What s dispersion ? Write a note on absolute and relative measures of
dispersion. (8+8)

B) Calculate correlation coefficient between price and supply. Interpret your
result :

Price : 17 18 19 20 21 22 23 24 25 26
Supply: 38 37 4 33 32 33 34 29 26 23
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4. Define regression. Explain the coefficient of regression and lines of regression.
Given 40x — 18y — 214 = 0 and 8x — 10y + 66 = 0 are the lines of regression of
XonY andY on X respectively. Find : 16

i) Average values of XandY

ii) Correlation coefficient between X and Y

iii) Estimate XwhenY =10.

OR
Define Index Number. State Unweighted and Weighted Index Numbers. Obtain
Price Index Number by : 16

i) Simple Aggregate Method
i) Laspeyre’s Index Number

iii) Paasche’s Index Number.

Commodity Base year Current year
Price Qty. Price Qty.
A 40 10 42 12
B 55 5 50 7
C 17 13 25 15
D 22 9 24 10
5. From the following data obtain mean, median, SD and CV : 16
Class: 7-17 17-27 27-37 37-47 47-57
f : 9 17 22 20 11
OR
From the following data, draw scatter diagram and interpret your result. Also
estimate Y when X =17 : 16

X:10 15 20 25 30
Y: 8 12 16 20 24
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Seat
No.
B.B.A. (Semester — Ill) (New) Examination, 2015
MARKETING RESEARCH
Day and Date : Friday, 17-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 8
1) is the process of examining data finding errors and then
to correct them when possible.
a) Statistical analysis b) Sampling
c) Editing d) Classification
2) is a communication method designed with a new to collect
the information.
a) Questionnaire b) Report c) Feedback d) None of these
3)In method of survey, information is collected from few members
of the population.
a) Census b) Secondary c) Sample d) None of these
4) refers to creating categories or groups to segregate the
data for further analysis.
a) Editing b) Coding c) Classification d) Processing
5) reports are also called as factual reports.
a) Informational b) Examinational c¢) Analytical d) None
6) In method of sampling, samples are selected by creating
groups /categories and then randomly samples are drawn.
a) Random sampling b) Stratified random
c) Judgement d) Quota
7)In observation, the subjects are known that they are being
observed.
a) Structured b) Unstructured c¢) Undisguised  d) Disguised
8) connects consumer and marketer through information.
a) Marketing research b) Marketing management
c) Written reports d) Data analysis

P.T.O.
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B) True orFalse : 8
1) Table in report should not be given separate numbers.
2) Letters in report indicate page no.
3) Quota sampling is known as convenience.
4) In observation method no questions are asked.
5) Marketing research is a costly activity.
6) Casual research focus on new idea.
7) Primary data is freely available.
8) Overt difficulties are not clearly visible.

2. Write short notes : 16
1) Methods of observation.
2) Written reports.

3. Write short notes : 16
1) Stepsin sample design.
2) Advantages and disadvantages of secondary data.

4. What is marketing research ? Explain the steps of research process. 16
OR

Explain the classification of questionnaire and how to design questionnaire. 16

5. What is data analysis ? Explain the processing operations in detail. 16
OR

Explain the various methods of sampling. 16
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Seat
No.
B.B.A. — Il (Semester - Ill) (New) Examination, 2015
FOUNDATION OF HUMAN SKILLS
Day and Date : Monday, 20-4-2015 Max. Marks : 80

Time : 3.00 p.m. 10 6.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternative : 8
1) leads to the understanding of facts and ideas.

a) Reading b) Speaking c¢) Listening d) None of these
2) is a cognitive process.
a) Reading b) Speaking c¢) Listening d) None of these

3) helps to reach goal.
a) Knowing self b) Speaking
c) Both d) None of these
4) helps to cope more easily with the daily affairs of life.
a) Positive Attitude b) Negative Attitude
c) Values d) None of these
5) are at core of all decision making.
a) Values b) Attitudes c¢) Both d) None of these
6) is used to express feelings.
a) Bodylanguage b) Values
c) Attitudes d) None of these
7) stressis long term.
a) Chronic b) Short c) Acute d) None of these
8) are used everyday to make a good impression on others.
a) Manners b) Language
c) Culture d) None of these

P.T.O.
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B) State whethertrue orfalse : 8
1) Reading develops critical thinking.

2) Meditation don’t help in knowing oneself.

3) Honesty is not a instrumental value.

4) Facial expression is universal.

5) Interrupting the interviewer is good interview etiquette.

6) Never show interest in others personal matters is a good manner.

7) Organisational work don’t cause stress.

)
)
)
)
)
)
)
)

8) Counting one to ten reduces your stress.

2. Write short notes : 16
A) Speaking skill
B) SWOT analysis.

3. Write short notes : 16
A) Classification of etiquettes
B) Importance of stress.
4. A) What is positive attitude ? Explain how to develop it and what obstacles are
there to develop it ? 16
OR
B) What is goal setting ? Explain importance of goals and why goal setting fails ? 16
5. A) What is ability ? Explain the basic abilities in detail. 16
OR

B) Define value. Explain sources of values and power of values. 16
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Seat
No.
B.B.A. — Il (Semester - lll) Examination, 2015
MANAGEMENT OF SME (New)
Day and Date : Wednesday, 22-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. A) Select correct alternative : 8

1) Which of the following institution emerge as a single window for meeting
financial and development needs of SME ?
a) DIC b) MIDC c) SIDBI d) SIICOM

2) Subsidies for adoption of indigenous technology is
assistance to promote small enterprises.
a) Marketing b) Technical
c) Financial d) None of these

3) District Industrial Centre (DIC) was set up in the year

a) 1978 b) 1982 c) 1990 d) 1965
4) The analysis of cost and profitability of project is
feasibility.
a) Market b) Technical c¢) Financial d) Commercial

5) Which of the following is the first stage in the creativity process ?

a) ldea germination b) Idea preparation
c) Ideaincubation d) Idea verification
6) Joint Stock Company is well known for liability.
a) Limited b) Unlimited
c) Short period d) Long period

P.T.O.
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7) form of ownership is motivated by the spirit of services
to its members.
a) Partnership b) Sole trading
c¢) Joint Stock Co. d) Co-operatives

8) Duty drawback scheme is assistance for promotion of
small units.
a) Marketing b) Technical
c¢) Financial d) Commercial

B) State whether the following statements are True orFalse :
1) Venture capital is to finance the early stage of new venture.
2) Market survey is an important source of idea generation.
3) Brain storming is the method for idea generation.

5
6) Small enterprises are not useful for employment generation.

)
)
4) Selection of plant location is one of the stages to start new venture.
) Small enterprises have no problem in export business.
)
7) Tax holiday is technical assistance for promotion of small enterprises.
8) Commercial banks are not financing to small enterprises.

2. Write short note :

a) Project report to start new venture

b) Maharashtra Industrial Development Corporation (MIDC)

3. Write short notes :
a) Tax concession schemes for small enterprises.
b) Make feasibility in project report

4. Discuss the role of Small Industries Development Bank of India in promotion and
development of small enterprises.

OR
Define SME. Explain its importance and problems.

5. Explain brain storming and creativity methods used to generate ideas.
OR

Discuss the features of Co-operatives and Joint Stock Company as a form of
ownership to start new venture.

16

16

16

16
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Seat
No.
B.B.A. — Il (Semester — IlIl) Examination, 2015
IT FOR MANAGEMENT (New)
Day and Date : Friday, 24-4-2015 Max. Marks : 80

Time : 3.00 p.m. to 6.00 p.m.

1. A) Choose correct alternative from the given alternatives.

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicates full marks.

1) Software is a collection of computer that perform task.
a) Device b) Ports
c) Programmes d) Operations

2) Fax stands for

a) Forward Xerox b) Fast Export
c) Facsimile d) Facilied
3) means data is being sent from your computer to the internet.
a) Share b) Compose
c) Upload d) Download
4) Netscape navigatoris a
a) Web Page b) Web site
c) Web browser d) None of these
5) In topology, there is a central controller or hub.
a) Star b) Mesh
c) Ring d) Bus
6) A private network within on organisation is called
a) Localnet b) Intranet
Cc) Internet d) Extranet

P.T.O.
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7) Adevice, connected to a network, that shares resources with other nodes

is called a
a) Client b) Host
c) None of these d) Server

8) Data communication system within a building a campusis
a) LAN b) WAN c) MAN d) None
B) Statetrue orfalse: 8
1) Communication speed is measured in bits per second.
2) Computer hardware is intangible in nature.

3) Domain name extension for commercial organisation is .mil.

4) Physical or logical arrangement of computers in a network is called
topology.

5) The channel with the greatest bandwidth is called broadband.
6) In networking, a client provides resources for the servers.

7) ESS stands for expert support system.

8) Theinternetis an example of LAN.

2. Write short notes : 16
a) Data communication channels.

b) Use of IT in Business.

3. Write short notes : 16
a) Network topology.
b) E-mail.

4. Define IT. Explain Hardware and software in detail. 16
OR
What is MIS ? Explain the information need at various levels of management. 16

5. Whatis IT ? Explain in detail the IT applications in Banking Industry. 16
OR
What is internet ? Discuss various types of networks. 16




Seat
No.
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B.B.A. — Il (Semester — lll) (Old) Examination, 2015

STATISTICS
Business Statistics

Day and Date : Wednesday, 15-4-2015
Time : 3.00 p.m. t0 6.00 p.m.

Instructions : 1) All questions carry equal marks.
2) Allquestions are compulsory.
3) Use of calculator is allowed.

1. a) Multiple Choice Questions :

Max. Marks : 80

10

1) There are lines of regressions.
a) One b) Two
c) Three d) Four
2) If Xand are perfectly positively correlated then r =
a) 0 b) — 1 c) 1 d) 0.1
3) Correlation coefficients lies between
a)0to 1 b)—1to1
c)—1t00 d)0to x
4) The mean of 85, 70, 10, 75, 500, 8, 42, 250, 40, 36 is
a)111.6 b) 130
c) 100 d) 99
5) The class limit of 20-24 are
a)20and 24 b) 24
c)4 d)5
6) There are measures of central tendency.
a) 1 b) 2 c) 3 d) 4
7) Index number of base year is
a) 100 b) O c) 1 d 5

P.T.O.
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8) The correlation between temperature and sale of woollen garments is

a)0 b) positive
Cc) negative d) can’'t determined
9) In drawing less than Ogive curve upper limits are plotted against
a) frequency b) cumulative frequency
c) mid points d) none of these

10) From Histogram we can locate

a) mean b) median
c) mode d) none of these
b) Fill in the blanks : 6

1) Coefficient of range =
2) Mode of 11,10,12,13,11,10,13,16, 13,13, 11is
3) Mode =3 Median—
4) Variance 0of 8, 8, 8, 8, 8is
)
)

5) BSE stands for
6

CVis measure of dispersion.

2. A) i) Find out Median of the distribution whose mean is 24.3 and mode is 31.2.

i) Calculate Arithmetic Mean :

C.L 5-10 10-15 15-20 20-25 25-30 30-3535-40
Frequency 1 10 20 8 6 3 1
B) Define dispersion. Explain measures of dispersion. (8+8)

3. A) Write short note on Ogive Curve.
B) From the prices of shares of X and Y given below, state which share is more
stable in value.
X : 55 54 52 53 5 58 52 50 51 49
Y : 108 107 105 105 106 107 104 103 104 101 (8+8)
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4. i) Explain general problems in the construction of index numbers.
i) Obtain Fisher's index number

Commodity 2000 2007
Price Quantity Price Quantity

A 40 10 42 9

B 55 5 50 8

C 17 13 25 10

D 22 9 24 5 (8+8)

OR

Find out correlation coefficient between X and Y by using Karl Perasons Coefficient
of Correlation (KPCC) : 16

X 10 12 14 15 16 17 18 10 14 15
Y 17 16 15 12 10 9 8 15 13 12

5. The lines of regressions are X + 2Y =5 and 2X + 3Y = 8.
Find out :
a) Valueof Xand.
b) Value of Y, if X = 2.

c) Correlation coefficient. 16
OR

Draw Histogram for the data given below and locate mode. Also obtain mean

and median : 16

Marks :10—-20 20—-30 30-40 40-50 50-60 60-70 70-80

No. of Students: 6 10 15 18 16 9 3
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Seat
No.
B.B.A. — Il (Semester — lll) (Old) Examination, 2015
SERVICE MANAGEMENT
Day and Date : Friday, 17-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 8

1)A is the physical backdrop that surrounds the service, also
referred as “service scape”.
a) service delivery b) physical product
c) service environment d) service product

2) The cost of service includes fatigue, discomfort and occasionally
even injury, while obtaining service.
a) sensory b) physical c) time d) money

3) At the level of optimum capacity
a) Demand exceeds maximum available capacity
b) Demand exceeds the optimum capacity
c) Demand is below the optimum capacity
d) Demand and supply are well balanced
4) dimension of service quality deals with trust worthiness, honesty
and believability of service provides.
a) Competence b) Access
c) Credibility d) Security
5) is a process of measuring that of the strongest competition
in order to establish best practise.
a) Bench marking b) Service quality
c) Pricing d) Flowcharting
6) is feature of service indicating that it can’t be separated
from service provider and consumer of the service.
a) Perishability b) Inseparability
c) Heterogeneity d) Intangibility

N— N N S

P.T.O.
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7)A produces a variety of services using different combinations
and sequences of activities.
a) Job shop operations b) Line operations
c) Intermittent operations d) None of these

8) includes short term incentives offered to stimulate customer
purchasing.
a) Publicity b) Advertising
c) Personal selling d) Sales promotion

B) Fill in the blanks :
1) is a paid form of non-personal communication.

2) pricing considers basic expenditure incurred on manufacturing
and distribution.

3) of marketing mix deals with the way in which services are

delivered to consumer.

4) is a contractual agreement between franchiser and franchisee.
5) is the promise of provider to offer expected services.
6) service feature is also known as variability.
7) TQM stands for
)

8) Restaurants and professional services are examples of

. Write short notes :
a) Role of services in economy.
b) Service quality.

. Write short notes :
a) Cost of services.
b) Components of services.

. Define promotion. Explain the various guidelines for improving promotion of
services.

OR
Explain various strategies for balancing supply and demand of services.

. Highlight the various challenges and opportunities in domestic airlines and
tourism sector.

OR
Explain the various factors considered in deciding service location.

16

16

16

16

16

16
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Seat
No.
B.B.A. — Il (Semester - Ill) Examination, 2015
FOUNDATION OF HUMAN SKILLS (Oid)
Day and Date : Monday, 20-4-2015 Max. Marks : 80

Time : 3.00 p.m. 10 6.00 p.m.

N.B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternative : 8
1) refers to the quality of performance.
a) Skill b) Ability c) Performance d) None of these
2) The act of is essentially a process of thinking.
a) Listening b) Reading c) Learning d) Speaking
3) includes word fluency and memory.
a) Mental abilities b) Conceptual ability
c) Social abilities d) None of these
4) Journey of discovery means understanding and others.
a) Two b) Self c) Together d) None of these
5) gives clarity in life.
a) Goal setting  b) Groups c) Peers d) Family
6) stressors are in the work place that causes stress.
a) Individual b) Group
c) Organisational d) None of these
7) reflects individual differences.
a) Nature b) Common c) Personality d) None of these
8) is an ongoing process by which individual progress through
series of stages.
a) Path b) Career development stage
c) Individual stage d) None of these

P.T.O.
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B) State whetherTrue or False : 8
1) Family and Technology are not the factors which affect career choice.

2) Role playing develops interpersonal skills.

3) In play age stage either initiative or guilt can be developed.

4) Life Trauma is a one of the individual stressor.

5) Goals can motivate individuals.

6) To understand others you need to understand self first.

7) Muscular ability does not includes physical work.

8) An ability refers to performance on physical and mental tasks.

2. Write short notes : 16
A) Listening skills
B) Goal setting.

3. Write short notes : 16

A) Learning Techniques
B) Determinants of personality.

4. Define career. Explain career Anchors and factors affecting career choices. 16
OR

Define stress. Explain sources and consequences of stress. 16

5. Define personality. Explain Jung’s personality theory. 16
OR

Define skill. Explain reading and writing skills in detail. 16
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Seat
No.

Day and Date : Wednesday, 22-4-2015

B.B.A. — Il (Semester — Ill) (Old) Examination, 2015
MANAGEMENT OF S.M.E.

Max. Marks : 80

Time: 3.00 p.m. to 6.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternatives :
1) Which of the following is a first stage of idea generation ?

a) Incubation
c) Elimination

b) Germination
d) Improvisation

2) is amethod of a idea generation.

a) Brain storming
c) Index Number

b) Hypothesis
d) Geometry

3) Which of the following is a step to start new enterprises ?

a) Selection of land
c) Licences
4) Small enterprises are based on

b) Registration
d) All of these
technology.

a) Labourintensive
c) Land intensive

5) Cost and Revenue is a factor of
a) Marketing

b) Capital intensive
d) None of these
feasibility.

b) Financial

c) Technical d) All of these

6) District Industrial Centre promote small enterprises at level.
a) District b) State
c) National d) Global

7) Small enterprises are favourable for

a) Employment generation
c) Equality of incomes

b) Balanced development
d) All of these

P.T.O.
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8) Technical consaltancy organization promote small enterprises through

a) Marketing facilities b) Financial facilities
c) Technical facilities d) None of these
B) State whether the following statements aretrue orfalse. 8

1) Small enterprises don’t earns Foreign exchange.

2) MIDC provide infrastructural facilities to small enterprises.

3) Marketing intelligence is a source of idea generation.

4) Creativity is a process to generate new ideas.

5) Small enterprises plays significant role in developing countries.
6) Marketing problems are not for small enterprises.

7) Tax benefits and subsidies are enjoyed by small enterprises.
8) Venture capital is for highly risk small enterprises.

2. Write short answer : 16
a) Features of small enterprises.
b) Maharashtra Industrial Development Corporation (M.I1.D.C.).

3. Write short answer : 16
a) Role of commercial banks in growth of small enterprises.
b) Technical Consultancy Organization (TCO).

4. Discuss the significance and problems of small enterprises in India. 16
OR
Explain in detail various steps to write a project report.

5. What are the sources of ideas generation ? Explain different methods of it. 16
OR
Discuss the different stages to start new venture.
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Seat
No.
B.B.A. (Part — 1) (Semester — I) (New) Examination, 2015
FINANCIAL ACCOUNTING (CGPA Pattern)
Day and Date : Monday, 20-4-2015 Max. Marks : 70

Time: 11.00 a.m. 10 2.00 p.m.

N. B. : 1) Attemptall questions.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

1. A) Choose correct alternative : 7
1) Business assets which can not be seen, touched, but can be sold for cash
is called
a) Tangible b) Intangible c) Current d) Circulating
2) Wages paid for installation of machinery should be debited to
account.
a) Wages b) Machinery c) Cash d) Installation
3) The rent paid to landlord should be debited to account.
a) Drawings b) Cash c) Rent d) Landlord
4) An entry recorded on both side of cash book is known as entry.
a) Journal b) Transfer
c) Contra d) Rectifying
5) Trial balance is a list of accounts.
a) Personal b) Real ¢) Nominal d) Ledger
6) The amount of depreciation goes on decreasing every year under
method.
a) Diminishing b) Straight line
c) Fixed installment d) Original cost
7) The amount realised at the end of working life of an asset is called
value.
a) Residual b) Market
c) Written down d) Original

P.T.O.
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B) Fill in the blanks : 7
1) Assets = Capital +
2) Outstanding salary is a account.
3) Depreciation is always charged on assets.
4) When cheque is into bank, cash book is debited.
5) Overdraft means balance of pass book.
6) A commodity in which traders deals is known as
7) Amount which is not recoverable from customer is known as

2. Write short notes (any 2) : 14
1) Accounting concepts.
2) Subsidiary books.
3) Causes of depreciation.

3. Solveanytwo: 14

1) M/s Akshat Art purchased a machinery for Rs. 2,00,000 on 15t April 2012.
Additional machinery was purchased on 15t Oct. 2012 for Rs. 40,000.
The firm provides depreciation @ 10% on written down value method on
315tMarch every year. Show machinery account upto 31-3-2014.

2) The Machinery Account shows a debit balance of Rs. 30,000 on 15tApril 2010
in the books of Parth Plams. The machinery was originally purchased on
15t April 2009. They decided to depreciate machinery at 25% p.a. on original
cost.

Prepare Machinery Account for 2010-11 and 2011-12, assuming accounting
year ends on 315t March every year.

3) State accounting conventions.

4. Journalise the following transactions :
2014 Sept. 1 Mr. Ritesh started business with cash Rs. 1,00,000

4 Purchased goods from Monika Rs. 40,000
7 Deposited cash into Indian Bank Rs. 35,000

10 Sold goods to Dhiraj Rs. 45,000

13 Purchased Laptop of Rs. 30,000 in cash

17 Paid Monika by cheque Rs. 30,000

20 Paid wages Rs. 2,000.

OR
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4. From the following particulars prepare Bank Reconciliation Statement for the
year ending on 31-3-2014.

1) Bank balance as per cash book Rs. 8,600.

2) Cheques of Rs. 4,000 issued but not presented for payment.

3) Bank debited bank charges Rs. 200.

4) Cheques of Rs. 2,800 deposited into the bank but not credited by bank.
)

5) Bank paid insurance premium on our behalf directly Rs. 2,500 not recorded in
cash book.

6) Bank credited interest on investment Rs. 1,900 but not recorded in the
cash book.

5. Enter the following transactions in a petty cash book :
2014 April 1 Received cash from head cashier Rs. 600

4 Paid telephone charges Rs. 93
7 Paidtelegram Rs. 27

10 Purchased 4 office files for Rs. 25

14 Gave tip to watchman Rs. 10

19 Gave advance to Swapnil Rs. 70

22 Paid packing charges Rs. 35

24 Paid Rs. 120 for advertisement

26 Paid cleaning charges Rs. 20

28 Gave donations Rs. 101

30 Purchased revenue stamps Rs. 60

OR

5. From the following balances you are require to prepare Trading and Profit and
Loss Account of Mr. Manas for the year ending 31-3-2014.

Particulars Rs. Particulars Rs.
Opening stock 42,000 Rentand taxes 4,200
Purchases 1,10,000 Insurance 1,800
Sales returns 10,000 Baddebts 300
Wages 8,000 Sales 2,25,000
Carriage inward 2,000 Purchase returns 5,000
Octroi duty 500 Commission received 1,500
Advertisement 1,200 Discount received 500
Salaries 6,000

Printing 5,000

Audit fees 1,800

Closing stock was valued at Rs. 9,500.

14

14
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Seat
No.
B.B.A. — Il (Semester — Ill) Examination, 2015
E-COMMERCE (Old)
Day and Date : Friday, 24-4-2015 Max. Marks : 80

Time: 3.00 p.m. to 6.00 p.m.

Instructions: 1) All questions arecompulsory.

2) Figures to the right indicates full marks.

1. A) Fill in the blanks : 8
1) [ 2 ¢ _ stands for
2) Telemarketing is a form of marketing.
3) Is the exchange of goods or services via Internet.
4) means electronic interchange of data between computer

systems.
5) protect private networks from outside attack.
6) The methods of payment for online customer is
7) E-Commerce is not suitable for
8) e-bay is an example of
B) State the following statementstrue or false : 8

1) Firewall is a type of virus.

2) EDI includes lot of paper work.

3) Digital signatures are used to authenticate transactions.
4) Traditional business are using Internet services.

5) Smart cards contains electronic chips.

6) Electronic checks are another form of electronic tokens.

7) EDI stands for Electronic Domain Interchange.
8) E-commerce waste the time of user on internet.

P.T.O.
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2. Write short notes : 16
a) Functions of E-commerce.

b) EDI and its advantages.

3. Write short notes : 16
a) E-marketing V/s Traditional Marketing.
b) Write a note E-Banking.

4. a) Define E-commerce. Explain various models of e-commerce. 16
OR

b) Explain the problems and opportunities of e-commerce in India.

5. a) Define E-payment. Explain postpaids credit cards cyber cash system. 16
OR

b) Whatis E-Finance ? Explain importance and advantages of E-Trading.
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Seat
No.
B.B.A. - Il (Semester — IV) Examination, 2015
EVENT MANAGEMENT (New)
Day and Date : Thursday, 16-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. A) Select correct alternative : 8

1) events are held generally at town and city.

a) Major b) Minor c) Sports d) None of these
2) events tend to have high budgets and high profiles.

a) Commercial b) Festivals c) Arts d) Family
3) for the event includes site, location and parking.

a) Audience b) Finance c) Venue d) None of these

4) The role of is to manage organisations image in the mind
of public.

a) Public relations b) Promotion

c) Advertising d) None of these
5) vary widely from one event to another.

a) Statement b) Aims c) Maps d) None of these
6) need to be briefed in advance.

a) Audience b) Speakers c) Public d) None of these
7) Selection of an event must take the needs of stakeholders

into account.

a) Site b) Audience c) Project d) None of these
P.T.O.
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8) The is responsible for setting up equipment for the
command center.
a) Crisis manager b) Technical support coordinator
c) Administrative coordinator d) Employee support coordinator

B) State whetherTrue or False :
1
2

Crowd Management is not much important in event Management.
A preventive control is established early in the planning process.

)
)

3) Largest events are called Mega events.
)

4) Finance is an important consideration at early stage of event concept and

design.
5) Advertising is the second element of the promotional strategy.
6) Break even pointin notimportant tool for event management.
7) Objectives of event management should be realistic and measurable.
8) Staging includes theme, venue, sound etc.
2. Write short notes :
A) Legal compliances

B) Titles and protocols for speakers.

3. Write short notes :
A) Prepare event proposal

B) Budgetand BEP

4. Define event. Explain in detail concept and design of an event.
OR

Write a detail note on security and occupational safety.

5. Define staffing. Explain staging of events in detail.
OR

Write a note on monitoring and control systems.

16

16

16

16
16

16
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Seat
No.
B.B.A. — Il (Semester — IV) Examination, 2015
BUSINESS ECONOMICS - Il (Macro) (New)
Day and Date : Saturday, 18-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

N.B. : 1) All questions are compulsory.
2) Neatdiagram should be drawn wherever necessary.
3) Figures to the right indicate full marks.

1. A) Answer the following questions by choosing the correct alternative given below : 8

1) means Govt. income and Govt. expenditure.
a) Private finance b) Public expenditure
c) Public budget d) None of the above

2) A persistently rise in general price level in an economy is known as

a) Inflation b) Stagflation c¢) Deflation d) All of these
3) Directtaxes means
a) No shifting of tax burden b) Shifting of tax burden

c) Both a) and b) d) None of the above
4) The indirect tax on necessaries of life is in the form of
a) Progressive b) Proportional
c) Regressive d) Modern
5) Which one of the following is a quantitative weapon of credit control ?
a) Bank rate b) Marginal ratio
c) Reserve ratio d) Margin requirement
6) When the price level rises the value of is decreases.
a) Commodity  b) Money c) Services d) Land
7) Medium of exchange is function of money.
a) Secondary  b) Contingent c) Primary d) None of the above
8) budget is one in which Govt. Income and expenditure is equal.
a) Surplus b) Balanced c) Deficit d) None of the above

P.T.O.
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B) State whether the following statements are true or false :
1) Credit creation is a function of a commercial bank.
2) Devaluation of money is useful for promotion of export.
3) Money is what money does.
4) Macro economics study individual unit.

6) Bottom point of recession is called depression.
7
8) Surplus budget is useful to developing countries.

)
)
)
5) Public borrowing is a component of budget policy.
)
) ‘VAT means value added tax.

)

2. Write short notes :
a) Functions of commercial bank.

b) Merits and demerits of macro economics.

3. Write short notes :
a) Explain the causes of growth in public expenditure.
b) Define business cycle. Explain the phases of business cycle.

4. What are the causes of inflation ? Suggest measure to control inflation.
OR
What is international trade ? Explain the features of import trade and export
trade.
5. Define direct and indirect tax. Explain the merits of direct tax and indirect tax.
OR
Explain the quantitative measures of credit control.

16

16

16

16
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Seat
No.
B.B.A. — Il (Semester — IV) (New) Examination, 2015
ORGANISATIONAL BEHAVIOUR
Day and Date : Tuesday, 21-4-2015 Max. Marks : 80

Time : 3.00 p.m. 10 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 8

1) Groups don’t have formal structure and regulations to follow.

a) Project Groups b) Command Groups
c) Task Groups d) Informal Groups

2) is a job related attitude which deals with employee’s loyalty
towards organisation and willingness to continue membership in
organisation.

a) Organisational commitment
b) Job Involvement
c) Productivity

d) Performance

3) tries to examine the behaviour of individuals groups and structure
in an organisation.

a) Culture b) Organisation behaviour
c) Perception d) Individual behaviour
4) are the evaluative statements favourable or unfavourable with

respect to people, objects or events.
a) Attitude b) Perception
c) Culture d) None of these

P.T.O.
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5) is a group with common purpose, mutual accountability and
synergy.

a) Command group b) Project group

c) Committee d) Team

6) is how one selects, organise and interprets the environment

around him/her.

a) Teams b) Attitude
c) Perception d) Personality
7) are certain acceptable terms of behaviour.
a) Group norms b) Forming
c) Group structure d) Group cohesiveness
8) is the degree to which group members are attracted towards
each other.
a) Group culture b) Group structure
c) Group cohesiveness d) Group behaviour
B) Fill in the blanks : 8
1) is a collection of two/more people coming together to

achieve common purpose.

2) is a set of beliefs, values, attitudes, philosophies etc. that

knit all members of organisation together.

3) teams includes members of variety of departments come
together to complete a task.

4) is a favourable attitude of an employee towards his/her job.

5) is the last stage in group formation.
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6) Attitude, perception, personality etc. are the factors affecting

Individual behaviour.

7) groups are composed of a supervisor and subordinates.

8) is a tendency to expend less efforts when working collectively
than when working individually.

2. Write short notes : 16
a) Types of Attitude
b) Types of Teams.

3. Write short notes : 16
a) Cultural Artifacts

b) Group Decision Making Process.

4. Define organisation behaviour. Explain the factors affecting Individual behaviour. 16

OR
Define organisational culture. Explain the creation and changing of organisational
culture. 16
5. Define perception. Explain the perceptual process in detail. 16
OR

Define Group. Explain the types of group and stages of group development. 16
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Seat
No.
B.B.A. — Il (Semester — IV) Examination, 2015
ENTREPRENEURSHIP DEVELOPMENT (New)
Day and Date : Thursday, 23-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternatives : 8
1) Entrepreneur arising within an organisation is called
a) Intrapreneur  b) Innovator c) Economist d) Manager
2) Frequent changes in policies would retard the growth of

entrepreneurship.
a) Managerial b) Government  ¢) Organisational d) Individual

3) Profit maximisation, social status attainment prestige acquisition etc. are
factors which affects the growth entrepreneurship.

a) Economical  b) Social c¢) Cultural d) Personality
4) role is the essential function of an entrepreneur is to co-ordinate
the various factors of production.
a) Risk assumption b) Co-ordinating
c) Innovation d) Imitating role
5) The entrepreneur who blindly follows the traditional methods of production
in spite of the loss is called entrepreneur.
a) Drone b) Fabian c) Adoptive d) Innovative
6) factors are those which compel women to become entrepreneurs.
a) Pull b) Push c) Both d) None of these
7) Need hierarchy theory of motivation is propounded by
a) Prof. Abraham Maslow b) Prof. David C. Mcclelland
c) Prof. C. K. Prahlad d) None of these

8) The gap between competency required and competency actually possessed
by an entrepreneur is called competency

a) Coping b) Mapping c) Understanding d) Identifying

P.T.O.
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B) State the following statement True or False :
1) The term entrepreneur refers to entrepreneurship.

2) Doing something new or something different is a prerequisite for
entrepreneurship.

3) Forced women entrepreneurs take business as a profession on their own

by self planning or motivation.
4) Entrepreneurship development consist of three phases.
5
6

7

Successful entrepreneur is always optimistic about his past.

Customs and traditions are economical factors which affects
entrepreneurship growth.

N N N N

8) Competence mean’s one’s educational qualification.

2. Write short notes :
a) Difference between Entrepreneur V/s Manager.
b) Functions of Entrepreneurs.

3. Write short notes :
a) Problems of rural entrepreneurs.
b) Maslow’s hierarchy theory.

4. a) Define entrepreneur. Explain the role of entrepreneur in economic

development.
OR
b) What is entrepreneurial competencies ? Explain major entrepreneurial
competencies.

5. a) Define women entrepreneur. Explain various problems/causes of limited
growth in India of women entrepreneurs.

OR

b) Define entrepreneurship. What are the factors which affects growth of
entrepreneurship ?

In less developed countries an entrepreneur is looked upon with suspicious.

8

16

16

16

16

16

16
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Seat
No.
B.B.A. — Il (Semester — IV) Examination, 2015
MARKETING MANAGEMENT - | (New)
Day and Date : Saturday, 25-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose correct alternative from the given alternatives. 8

1) is an example of sales promotion.

a) Cashdiscount b) Television
c) Public affair d) Display

2) To attract large number of buyers quickly and win large market share
pricing method is used.

a) breakeven b) costbased

c) market skinning d) market penetration

3) Needs when directed at very specific objects become

a) services b) products

c) satisfaction d) wants

4) Sales promotion consist of
a) longtermincentive
b) short term incentive
c) personal selling

d) all of the above

P.T.O.
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B)

5) Modern marketing runs on three basic concepts that is seeking, matching
and

a) promotion b) pricing
C) programming d) none of these

6) ‘Walmart’ is an example of

a) Discount stores b) Hyper market
c) Shopping mall d) Supermarket
7) environment is responsible for shaping consumers belief,

values and norms.
a) Cultural b) Legal
c) Demographic d) Political

8) Which of the following is an example of direct marketing

a) Advertising b) Test marketing
c) Retailing d) Telemarketing
Fill in the blanks : 8
1) is a bundle of satisfaction that consumer buys.
2) is dividing market into homogeneous sub-sections of
customers.
3) environment consist of scientific study and distribution

structure of human population.

4) marketing is an approach used to develop activities aimed
at changing or maintaining people’s behaviour for the benefit of individuals
and society as a whole.

5) is a paid form of personal communication.

6) is the last step in distribution network.

7) pricing means setting high price at initial stage.

8) is the only ‘P’ of marketing mix which generates revenue

for organisation.
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2. Write short notes :
a) Retailing and its types.
b) Distinction between marketing and selling.

3. Write short notes :
a) Functions of marketing management
b) CRM.

4. What is mean by marketing ? Explain the scope of marketing in detail.
OR
Define market segmentation. Explain basis for market segmentation.

5. What is marketing environment ? Explain forces of marketing environment.

OR
What is consumer behaviour ? Explain various factors affecting consumer
behaviour.

16

16

16

16
16

16
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Seat
No.
B.B.A. — Il (Semester — IV) Examination, 2015
BUSINESS POLICY (Old)
Day and Date : Thursday, 16-4-2015 Max. Marks : 80

Time : 3.00 p.m. to 6.00 p.m.

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 8

1) are the outcome of an organisational capabilities.
a) Organisational capability b) Strategic advantage
c) Competencies d) Organisation behaviour

2) phase of projectimplementation, is an extension of strategy
formulation of strategic management.

a) Conception b) Definition
c) Implementation d) Clean-up

3) An Is a favourable condition in the organisation environment
which enables it to consolidate and strengthen its position.

a) Strength b) Weakness
c) Opportunity d) Threat

4) The strategy is adopted by firm when it attempts at an
incremental improvement of its functional performance by marginally
changing one/more of its business.

a) Acquisition b) Liquidity
c) Expansion d) Stability
5) are the special qualities possessed by an organisation
that make them to face competition in market.
a) Synergy b) Advantage
c) Competencies d) Organisation behaviour

P.T.O.
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6) environment consists of macro level factors related to the
means of production and distribution of wealth which have an impact on
business.

a) Economic b) Regulatory
c) Supplier d) Political
7) denotes what an organisation hopes to accomplish in a
future period of time.
a) Objectives b) Goals
c) Mission d) Purpose
8) Is the determination of the basic long term goals and

objectives of an enterprise and the adoption of the course of action and
the allocation of resources necessary for carrying out these goals.

a) Management b) Strategy
c) Goals d) Mission

B) Fill in the blanks :

b)

1) is a good measure how well or badly an organisation has
progressed with respect to its own past performance.

2) The strategy is followed when an organisation aims at
contraction of activities through reduction or elimination of scope of one or
more of its business to improve its overall performance.

3) is an inherent capacity which an organisation can use to
gain strategic advantage.

4) deals with commitment and distribution of resources.

5) strategies are basically about choice of direction that a
firm adopts in order to achieve its goals.

6) Is the aggregate of all conditions, events and influences,
that surrounds and affect business.

7) is carried out through functional plans and policies in different

functional areas.
8) FEMA stands for

Explain the levels at which strategy operates.
Write about following terms :

i) Mission i) Purpose
i) Objectives iv) Goals.
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3. a) Explain functional implementation with respect to
i) Finance
i) HR
i) Marketing
iv) Rand D
b) Write a note on strategic decision making.
4. Explain structural implementation with the reference to different structures for
strategies.
OR

Explain different methods and techniques used for organisational appraisal.

5. What is Environment ? Explain various components of environment.
OR

What are the various types of retrenchment strategies ?

16

16

16

16
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Seat
No.
B.B.A. — Il (Semester — IV) Examination, 2015
BUSINESS ECONOMICS - Il (Macro) (Old)
Day and Date : Saturday, 18-4-2015 Max. Marks : 80

Time : 3.00 p.m. 10 6.00 p.m.

N.B. : 1) Allquestions are compulsory.
2) Neat diagrams should be drawn wherever necessary.
3) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 8
1) Macro economics study unit at national level.
a) Individual b) Independent c) Aggregate d) Particular
2) A persistently in general price level is known as inflation.
a) Rise b) Fall c) Fluctuations d) Stability
3) “An Innovation Theory of trade cycle” is presented by
a) Prof. J. M. Keynes b) Prof. Schumpeter
c) Prof. Hawtrey d) Prof. Alfred Marshall
4) A monetary policy of the country is employed by
a) Private Bank b) Co-operative Bank
c) Commercial Bank d) Central Bank

5) Which of the following tax is a example of indirect tax ?

a) Income Tax b) Property Tax
c) Sales Tax d) Capital gain tax
6) When total income of the Govt. is less than total expenditure, a budget is
said as
a) Balanced budget b) Surplus budget
c) Deficit budget d) Zero base budget

P.T.O.
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7) Which of the following community suffers more during inflation ?

a) Business men b) Traders
c) Industrialist d) Wage earners
8) A subject matter of Public Finance is
a) Public revenue b) Public expenditure
c) Public debt d) All of these
B) State whether the following statements are True or False : 8

1) A commercial bank is a profit making institutions.

2) A cost push inflation arises due to increase in income level of people.
3) Macro Economics study national income.

4) A value of money falls during deflation.

5) A fiscal policy is different from budget policy.

6) When export receipt is greater than import.

7) A balance of trade comprises goods transaction only.

8) Bank rate is a qualitative measure of credit control.

2. Write short answers : 16
a) Describe the objectives of Macro Economics.
b) Discuss the Prof. Hawtrey’s theory of trade cycle.

3. Write short answers : 16
a) Functions of commercial banks.

b) Classification of budget.

4. Discuss the credit control policy of the Central Bank. 16
OR
Define macro economics. Explain its merits and demerits.
5. Whatis Demand Pull and Cost Push Inflation ? Explain the measures to control
inflation. 16
OR
Define Direct Tax. Explain its merits and demerits.
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Seat
No.
B.B.A. — Il (Semester — IV) Examination, 2015
ORGANISATIONAL BEHAVIOUR (Old)
Day and Date : Tuesday, 21-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.

1. A)

Note : 1) All questions are compulsory.
2) Figures to the right indicates full marks.

Fill in the blanks : 8
1) values represent the desirable end state of existence.

2) means giving meaning to environment around us.

3) is related to the feeling and beliefs of people.

4) Members get to know each other and seek ground rules are in

stage of group development.

5) is the field of study that investigates the impact of individual

and group behavior.

6) In people from different departments come together for

accomplishing a particular task.

7) factor refers to individual’s mental characteristics and attributes.
8) Theterm refers to individual pleasure of positive state towards
his job.
Match the pairs : 4
A B
1) Halo effect Job satisfaction
2) Attitude Happiness
3) Terminal values Stereotyping
4) Instrumental values Honesty

P.T.O.
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C) Define the terms : 4
1) Group.
2) Organisational behaviour.
3) Attitude.
)

4) Perception.

2. Write short notes : 16
a) Approachesto O.B.

b) Teams v/s Groups.

3. Write short notes : 16
a) Types of Attitude.

b) Factors Affecting Perception.

4. Define perception and state perceptual process in detail. 16
OR
Define values. State the types and sources of values. 16

5. Define organisational behavior. State the factors affecting individual behavior. 16
OR

State the nature and scope of organizational behavior along with its evolution. 16
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Seat
No.
B.B.A. - Il (Semester - 1IV) (Old) Examination, 2015
ENTREPRENEURSHIP DEVELOPMENT
Day and Date : Thursday, 23-4-2015 Max. Marks : 80

Time : 3.00 p.m. t0 6.00 p.m.
Instructions : 1) All questions arecompulsory.
2) Figures to the right indicates full marks.
1. A) Select the correct alternatives : 8

1) The mostimportant function of entrepreneur is
a) Risk assumption b) Managerial function
c) Function of innovation d) Decision making function

2) Entrepreneur arising within an organisation is called

a) Infrapreneur b) Innovator c) Economist d) Manager
3) In phase of the entrepreneurship development, the
provision of infrastructure facilities is concerned.
a) Support phase b) Initial phase
c) Development phase d) Maturity phase
4) Frequent changes in policies would retard the growth of
entrepreneurship.
a) Managerial b) Government c) Organisational d) Individual
5) factors encourage women to become entrepreneurs.
a) Push b) Rush c) Pull d) Null
6) are referred as Academic entrepreneur.
a) New entrepreneur b) Educational entrepreneur
c) Academic entrepreneur d) Paperentrepreneur

P.T.O.
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”

7) Entrepreneurs are aptly called “Agents of
a) Chance b) Devil c) Change d) Friends

8) While entrepreneur refers to a person, entrepreneurship refers to

a) family b) force c) function d) power

B) State the following statement true orfalse : 8
1) The hallmark of entrepreneurship is neither innovation nor risk bearing.
2
3
4
5

Innovative entrepreneurs are scared in developing countries.
The word entrepreneur is derived from the Japanese word “Entreprendre”.
In less developed countries the entrepreneur is looked upon with suspicion.

N N N S

Chance women entrepreneurs start business without any preparation, clear
goals or plans.

6) Customs and traditions are economical factors which affects
entrepreneurship growth.

7) Drone entrepreneur is one who blindly follows the traditional methods of
production.

8) Successful entrepreneur is always optimistic about his past.

2. Write short notes : 16

a) Characteristics of an entrepreneur.
b) Types of women entrepreneur.

3. Write short notes : 16

a) Difference between entrepreneur V/s manager.
b) Social entrepreneur.

4. a) Define entrepreneurship. Explain the factors affecting entrepreneurship growth. 16

OR
b) Define entrepreneur. Explain the role of entrepreneur in economic
development. 16
5. a) Define women entrepreneur. Explain various problems of women
entrepreneur. 16
OR

b) What are the remedial or motivation measures to promote women
entrepreneurship ? 16
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Seat
No.
B.B.A. (Part — I) (Semester — I) (New) Examination, 2015
(CGPA Pattern)
BUSINESS ECONOMICS (Micro)
Day and Date : Wednesday, 22-4-2015 Max. Marks : 70

Time: 11.00 a.m. t02.00 p.m.

N.B. : 1) Allquestions are compulsory.
2) Give diagrams and schedules wherever necessary.
3) Figures to the right indicate full marks.

1. A) Select the correct alternative : 7
1) Ata point of satiety total utility is

a) Minimum b) Zero c) Maximum d) Negative
2) All costs are variable in period .
a) Fixed b) Medium c) Short d) Long

3) In oligopoly market number of firms are

a) One b) Large c) Few d) Infinite

4) Profitmay be
a) Negative b) Positive c) Zero d) All of these

5) Which of the following goods are exceptions to the law of demand ?
a) Luxuries b) Necessary c¢) Comfortable d) Giffen

6) A demand curve parallel to ‘Y’ axis is known as

a) Perfectly inelastic b) Perfectly elastic
c) Unit elastic d) Elastic
7) Business economics is in nature.
a) Positive and Normative b) Descriptive and prescriptive
c) Micro and Macro d) All of these

P.T.O.
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B) State whether the following statements are True or False : 7
1) A demand for ice-cream is inelastic.

2) Interest paid for capital is variable cost.

3) Oligopoly market is famous for normal demand curve.

4

5

6) A demand for cell-phone and SIM Card is complementary demand.

Business economics is a science of decision making and planning.

Total utility is always positive.

)
)
)
)
)
7) Product differentiation is necessary for monopolistic competition.

2. Write short notes (any two) : 14
a) Innovation theory of profit
b) Features of oligopoly

c) Determinants of price elasticity of demand.

3. Write short notes (any two) : 14
a) Modern theory of rent
b) Features of monopolistic competition

c) Features of business economics.

4. What is total cost ? Explain short period cost concepts. 14
OR

What is business decision ? Explain internal and external business decisions.

5. What are the types of price elasticity of demand ? Explain its importance. 14
OR

State and explain the law of demand. Write its exceptions.
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Seat
No.
B.B.A. — Il (Semester — IV) (Old) Examination, 2015
MARKETING MANAGEMENT - |
Day and Date : Saturday, 25-4-2015 Max. Marks : 80

Time : 3.00 p.m. 10 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 8

1) referstothe group of actual and potential group of customers.
a) Marketing b) Market
c) Management d) None of these

2) is a paid form of non-personal communication to inform
and persuade the customers.
a) Personal selling b) Sales promotion
c) Publicity d) Advertisement

3) factor of consumer behaviour undertakes the study of
perception, motivation with respect to the consumer.
a) Psychological b) Personal
c) Social d) Cultural

4) is activity which involves selling the single quantity products
to final consumer.
a) Marketing b) Wholesaling
c) Retailing d) None

5) mix deals with accessibility and availability of products and
services to the customer.
a) Product b) Process
c) Physical evidence d) Place

P.T.O.
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6) is any name, sign, symbol, term, image used to identify

product in the market.

a) Packaging b) Labeling
c) Brand d) None of these
7) is a process of dividing heterogenous market into homogenous

parts and then offering the product.
a) Targeting b) Branding
c) Positioning d) Segmentation
8) is the exchange value of product expressed in terms of money.
a) Price b) People
c) Promotion d) Product

B) Fill in the blanks. 8

1) Modern marketing concept is oriented.

2) is also called as marketing communication.

3) is the process of designing container for the product.
4) is the process of launching the product and communicating

the product to the market.

5) is the last entity in distribution channel.
6) is also called as eye and ear of organisation.
7) is the strategy to maintain and nurture company’s

interaction with customers.

8) environment deals with study of population and its
characteristics affectingmarketing operations of organisation.
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2. Write short notes : 16

1) Marketing in 215t century.

2) Product mix.

3. Write short notes : 16
1) Product positioning

2) Demographic environment.

4. What is marketing mix ? Explain the various elements of marketing mix. 16
OR

What is market segmentation ? Explain the various bases of market segmentation. 16

5. Explain the various factors affecting marketing environment. 16
OR

Explain various functions of marketing management. 16
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Seat
No.
B.B.A. — Il (Semester — V) Examination, 2015
INTERNATIONAL BUSINESS
Day and Date : Wednesday, 15-4-2015 Max. Marks : 80

Time: 11.00 a.m. 10 2.00 p.m.

N.B. : 1) Allquestions are compulsory.
2) Figures to the right indicates full marks.

1. A) Choose the correct alternative : 8
1) is popularly known as World Bank.
a) IMF b) IBRD c) BOP d) None of these
2) company does not think of going global.
a) International b) MNC c) Domestic d) None of these
3) In exportintermediaries, management works on basis.
a) Commission b) Royalty c) Salary d) Free
4) Import quotas means restrictions on the quantity of goods.
a) Indirect b) Direct c) Partial d) None of these
5) World Bank was established on
a) 5t December 1944 b) 5th December 1985
c) 1StAugust 1944 d) 5t August 1985
6) A global company is one which has marketing strategy.
a) Local b) Global c) Regular d) None of these
7) is selling the products in a foreign country directly through
the distribution arrangement.
a) Direct exporting b) Indirect exporting
c) Intra corporate transfer d) None of these
8) Management contracts are mainly due to inventions.
a) Governmental b) Company c) Agent d) Export.

P.T.O.
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B) State True orFalse:
1) Domestic company limits its operations to national political boundaries.

2) Ethnocentric approach is suitable for companies during early days of
business.

3) Religion does not influence human behaviour.

4) Low income countries are also known as third world countries.
5) IMF stands for Indian Money Funds.

6) Merger provides easy entry in global business.

7) Joint Venture does not involves local companies.

8) GATT activities are involved on permanent basis.

2. Write short notes on (any two) :
i) GATT
ii) International Liquidity and SDR

iii) Technological Environment.

3. A) Explain the various Modes of Entry of International Business.
B) Analyze the impact of social and cultural factors on global business.

4. Explain the evolution and approaches of International Business.
OR
Explain the features of EEC and SAARC in detail.
5. Explain the term Balance of Payment. Distinguish between Balance of Payment
and Balance of Trade.
OR

Foreign Direct Investment plays a very crucial role in the development of
economy — Explain.

16

16

16

16
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Seat
No.
B.B.A. — Il (Semester — V) Examination, 2015
MARKETING RESEARCH
Day and Date : Friday, 17-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative. 8

1) is a systematic and objective study of problems pertaining
to the marketing of goods and services.

a) Marketing management b) Marketing research
c) Research report d) Sampling

2) is a complete enumeration of all items in the population.
a) Census survey b) Sample survey
c) Sampling units d) Sample size

3) In method of sampling, every unit in the population has equal
probability of being selected.

a) Systematic sampling b) Area sampling
c) Stratified Random sampling d) Random sampling

4) is a process of summarising raw data and displaying the
same in compact form for further analysis.

a) Editing b) Classification
c) Tabulation d) Coding

5) is used for well defined research problem and the observers
have been told specifically what is to be observed.

a) Unstructured observation  b) Disguised observation
c) Structured observation d) Undisguised observation

6) analysis simultaneously analyses more than two variables
on a sample of observations.

a) Multivariate b) Univariate c) Bivariate d) None of these

P.T.O.
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7) implies that the objective of survey should be achieved with
minimum cost and efforts.
a) Measurability b) Practicality
c) Goal orientation d) Economy
8) is an oral presentation of research findings.
a) Written reports b) Oral reporting
c) Informational reports d) Analytical reports
B) Define the following terms : 4
1) Sample

2) Population
3) Sample size
4) Sampling unit.

C) Match the pairs : 4
Set A SetB
1) Disguised observation 1) Maps
2) Telephonic survey 2) Problemin processing
3) Area sampling 3) Unknown to respondents
4) The “DK Response” 4) Research design
5) Survey method

2. Write short notes : 16
a) Applications of marketing research.
b) Characteristics of a good sample design.

)
3. a) Write a note on sources of secondary data. 8
)

b) XYZ firm want to conduct a market survey on a product “Television” in your
city. Frame a questionnaire including both close ended and open ended
questions for the product. Assume the necessary information. 8

4. Define marketing research. Explain the steps involved in research process. 16
OR
Explain the various types of processing operations used in marketing research.

5. Explain various types of sample design in marketing research. 16
OR
What is report writing ? Explain the types of reports in detail.
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Seat
No.
B.B.A. — Il (Semester — V) Examination, 2015
FINANCIAL MANAGEMENT - |
Day and Date : Monday, 20-4-2015 Max. Marks : 80

Time: 11.00 a.m. 10 2.00 p.m.

N. B. : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.
4) Use of calculators is allowed.

1. A) Choose the correct alternative : 8

1) The scope of finance function is concerned with

a) Financing decisions b) Investment decisions
c) Dividend decisions d) All of these
2) are capable of getting converted into cash usually within a year.
a) Current assets b) Fixed assets
c) Capital assets d) None of these
3) deals with financial matters of the government.
a) International finance b) Public finance
c) Private finance d) Corporation finance

4) Interest accrued on investmentsis a

a) Fixed asset b) Current liability
c) Current asset d) Long-term liability
5) Inthe case of preference shares, the dividends go on
accumulating if the company fails to pay the dividend in any year.
a) Cumulative b) Non-continuing
c) Botha)andb) d) Non-cumulative

P.T.O.
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6) is a borrowed capital for the company.
a) Equity share b) Debenture
c) Preference share d) Retained earnings

7) working capital depends upon the fluctuations in demand.
a) Permanent b) Core
c) Fixed d) Variable

8) Cash sales are cash flows.
a) Negative b) Operating
c) Non-operating d) Both a) and b)

B) Fill in the blanks : 8

1) If monthly consumption =200 units
Carrying cost per unit=3 12
Ordering cost per order =3 100
Then, Economic Order Quantity =

2) If safety stock = 150 units
Economic Order Quantity = 200 units
Then, Average Stock Level =

3) If cost of goods sold =¥ 50,000

Opening stock = ¥ 11,000
Closing stock = % 15,000
Then, Purchases =%

4) If number of orders =25
EOQ of inventory = 3000 units

Then, Annual Consumption =

2. A) Explain the determinants of working capital. 8
B) Write short notes : 8
i) Objectives of finance function.

i) Motives of holding inventory.
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3. A) Explain the steps in financial planning.

B) Write short notes :
i) Operating cycle
i) ABC analysis.

4. Calculate the working capital from the details :

a) Annual expenses:
Wages -
Stores and materials —
Office salaries —
Rent -

Other expenses —

% 5,20,000
% 96,000
3 1,24,800
% 20,000
% 96,000

b) Average amount of stocks to be maintained :

Finished goods stock —
Materials /Stores stock —

c) Expenses paidin advance:

(Quarterly Advance) -
d) Annual Sales:

Home market —

Foreign market -
e) Laginpaymentof:

Wages -

Stores and materials -

Office salaries —

Rent -
Other expenses —

OR

% 10,000
% 16,000

% 16,000 p.a.

T 6,24,000 6weeks
¥ 1,566,000 1.5weeks

1.5 weeks
1.5 months
0.5 months
6 months
1.5 months

4. What are the long term sources of finance ? Explain any two with features of

each.

16

16
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5. State the objectives of Cash Management and elaborate the motives of holding

cash. 16
OR
5. Prepare a Cash Budget for the period June-Aug. 08 : 16
Month Sales Purchases Wages Production Selling
4 4 4 Expenses Expenses

April, 2008 50,000 40,000 5,000 20% of Wages 5% of Total Sales
May, 2008 80,000 50,000 5,000 ” ”

June, 2008 60,000 70,000 6,000 ” ”

July, 2008 70,000 40,000 6,000 ” ”
Aug.,2008 60,000 30,000 7,000 ” ”

1) /5! of the sales are on cash basis.

2) 50% of the credit sales are recovered in the next month, whereas 50% are
recovered after 2 months.

3) Cash sales are made at 5% cash discount.

4) All purchases are credit purchases and the due amount is paid after two
months.

5) Wages are paid 15 days in arrears.
6) Lagin payment of production and selling expenses — 1/8 months.

7) Ason 18tJune, 08 cash balance is ¥ 36,600.
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Seat
No.
B.B.A. — Il (Semester — V) Examination, 2015
HUMAN RESOURCE MANAGEMENT - |
Day and Date : Wednesday, 22-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose correct alternative from given alternatives : 8
1) are paid to workman for his outstanding performance.
A) Salary B) Wages C) Incentives D) None of these

2) role of HR Manager, reminds the management of its morals
and obligations to its employees.

A) The conscience B) The change agent
C) The spokesman D) The mediator

3) is a statement of the minimum acceptable human qualities
necessary to perform a job properly.

A) Job Specification B) Job Evaluation
C) Job Description D) Job Analysis

4) refers to searching for prospective employees and stimulating
them to apply for job.

A) Selection B) Employment  C) Recruitment D) Placement
5) makes employees versatile in skill and knowledge.
A) Coaching B) Jobrotation  C) Conference D) Lecture

6) is a technique by which an employee is rehabilitated into
organisation.

A) Placement B) Development C) Training D) Induction

7) deals with cost and contribution of Human Resource to the
organisation.

A) Human Resource Accounting B) Human Resource Planning
C) Human Resource Management D) Human Resource Research

8) determines the money value of jobs.
A) Job Analysis B) Job Description
C) Job Evaluation D) Job Specification

P.T.O.
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B) State whetherTrue or False :
1) Assigning specific job to each person is training.
2) Hiring cost is more when a firm hires candidates from within.
3) Private employment agencies are also called executive search agencies.
4) Job analysis is prerequisite to HRP.
5) Selection and recruitment, both functions are one and same.
)

6) Job description is a statement of the minimum acceptable human qualities
necessary to perform job.

7) Trained employees are liability to organisation.
8) Recruitment is attracting capable applicants for job.

2. Write short notes :
A) Job description and job specification.
B) Role of HR Manager.

3. Write short notes :
A) Factors affecting human resource planning.
B) Training need and advantages.

4. Define HRM. State and explain managerial and operative functions of HRM.
OR

What is recruitment ? State and explain the various sources of recruitment.

5. Explain selection procedure along with factors affecting selection decision.
OR
Define training. Explain different methods of training.

8

16

16

16

16
16

16
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B.B.A. — lll (Semester — V) Examination, 2015
PRODUCTION MANAGEMENT - |

Day and Date : Friday, 24-4-2015
Time :11.00 a.m. to 2.00 p.m.

Max. Marks : 80

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. A) Select the correct alternatives :

1) Arepair work of an electric motor is an example of

maintenance.

a) Preventive

b) Predictive

c) Corrective d) Routine

2) inspection is justified when it is necessary to inspect a
least items from the lot.
a) Total b) Sampling

c) Centralised

d) Decentralised

3) A machines performing drilling operations are grouped in the casting

department is an example of layout.
a) Process b) Product
c) Cellular d) Fixed position

4) Generally the size of production is
a) Small
c) Medium

5) A production is a process of transforming

a) Outputs into inputs

¢) Land into labour

in production system.

b) Very small
d) Large

b) Inputs into outputs

d) Labourintoland
P.T.O.
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6) Cementindustry is an example of layout.
a) Process b) Product
c) Cellular d) Fixed position
7) manufacturing unit is an example of project production
system.
a) Toys b) Sugar
c) Ship d) T.V. Set

8) A selection of a actual site for production is a problem relating to

a) Plantlayout b) Plantlocation
c) Plant maintenance d) Production system
B) State whether the following statements are true orfalse: 8

1) A multi storey building provide lower site cost.

2) A process layout is more flexible.

3) Break-down maintenance is also known as preventive maintenance.
4) In process layout machines are arranged in a one straight line.

5) The distance between department needs to be as long as possible in
process layout.

6) A fixed position layout is followed in the manufacturing of bulky and heavy
products.

7) An ultimate object of production management is customer satisfaction.

8) A painting and plumbing is civil maintenance.

2. Write short note : 16
a) Importance of inspection and quality control.

b) Classification of maintenance activity.
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3. Write short note : 16
a) Objectives of plant layout.
b) Classification of production system.

4. a) Define production management. Describe the objectives of production
management. 16

OR

b) What is product layout ? Explain the merits and demerits of product layout. 16

5. a) Explainthe need for selecting suitable location. What are the factors affecting
selection of suitable location ? 16

OR

b) Discuss the different factors considerable for designing factory building. 16
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Seat
No.
B.B.A. — Il (Semester — VI) Examination, 2015
BUSINESS LAW
Day and Date : Thursday, 16-4-2015 Max. Marks : 80
Time: 11.00 a.m. t0 2.00 p.m.

1. A) Choose the correct alternative :

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1) The Indian Contract Act
a) 1872 b) 1877 c) 1880 d) 1881

2) The minimum number of members required to form a public company is
a) 2 b) 4 c) 7 d) 5

3) A Partnership started for a particular adventure or undertaking is called a

a) General Partnership
b) Particular Partnership
c) Fixed Partnership

d) Partnership at will

4) The Consumer Protection Act

a) 1982 b) 1986 c) 1988 d) 1989
5) The Companies Act

a) 1956 b) 1955 c) 1958 d) 1959
6) is an error made by the parties to the contract.

a) Coercion b) Mistake

c) Fraud d) Undue influence

P.T.O.
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7) is the first meeting of the shareholder of a public company.
a) Annual General Meeting b) Statutory Meeting
c) Extraordinary General Meeting d) All of the above
8) There must be an agreement to share the of a business.
a) Profit b) Loss
c) Gain d) All of the above
B) State whether the following statements are True or False: 8

1) Consideration must move at the desire of the promisor.

2) The dissolution of partnership firm means a complete closure or end of the
business of the firm.

3) A company has no legal personality.

4) “Complaint” means any allegations is writing made by a complainant about
unfair trade practices by traders, or about defective goods or deficiency in
service etc.

5) Agreement in restraint trade is not void.

6) A partner who is neither an active partner nor known to the public as a
partner is called “Dormant partner”.

7) The object of an agreement must be unlawful.
8) A public company needs to raise the capital by the issue of prospectus.

2. Write short answers : 16
a) Articles of Association b) Discharge of contract.
3. Write short answers : 16
a) Acceptance b) Share capital.
4. Define “Contract” and explain capacities of parties to a contract. 16
OR
Define “Company” and explain winding up of companies.
5. Define “Partnership” and state rights of partners. 16
OR

Define “consumer” and state provisions relating to consumers disputes redressal
machinery.
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Seat
No.
B.B.A. — lll (Semester — VI) Examination, 2015
MARKETING MANAGEMENT - I
Day and Date : Saturday, 18-4-2015 Max. Marks : 80

Time : 11.00 a.m. t0 2.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose the correct alternative : 4
1) A is a set of all products and items that a particular
seller offers for sale to buyers.
a) productline b) product mix
c) brand d) none of these
2) The feature of service emphasises importance of human
element in service industry.
a) perishability b) intangibility
c) simultaneity d) inseparability
3) is an oral presentation in a persuasive manner with a
prospective buyer for the purpose of sale.
a) Personal selling b) Sales promotion
c) Publicity d) Advertising
4) strategy deals with launching product with high promotion
and high price.
a) Slow penetration b) Rapid penetration
c) Slow skimming d) Rapid skimming
B) Fill in the blanks : 8
1) of product line refers to total number of product items
within each product line.
2) stage of PLC normally lasts longer than any other stage.
3) is the most flexible element of marketing mix.
4) includes all activities involved in selling goods and services

to those who buy for resale/business use.
P.T.O.



SLR-J-47 NV A

5) is the place where services are performed, delivered
and consumed.
6) evidence constitute a dominant part in service delivery.
7) includes variety of programmes designed to promote
and/or protect company’s image or its individual product.
8) The stage of PLC is marked by rapid climb in sales.
C) Match the pairs : 4
A B
1) Motivated Employee 1) Seller's promise
2) Social setting 2) Variants of each product line
3) Width 3) Physical evidence
4) Brand 4) Different product lines
5) Loyal customers
2. Write short notes : 16

1) Product line decisions.
2) Types of service personnel.

3. Write short notes : 16
1) Logistics management.
2) Physical environment.

4. What is product life cycle ? Explain its various stages and relevant strategies. 16

OR

Define price. Explain the various factors affecting pricing decisions. 16

5. What is promotion ? Explain the steps involved in promotion mix. 16
OR

Explain the importance of people in service organisation. Highlight the role of front
line staff. 16
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Seat
No.
B.B.A. - lll (Sem. — VI) Examination, 2015
FINANCIAL MANAGEMENT - I
Day and Date : Tuesday, 21-4-2015 Max. Marks : 80

Time:11.00 a.m. 10 2.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculators is allowed.

1. a) Choose correct alternatives : 8

1) Net working capital means
a) Total assets b) Current assets
c) Fixed assets d) CA-CL

2) A company’s first offering of common stock to the general public is
knownas__
a) IPO b) Prospectus c) Placement d) FPO

3) is the payment of additional shares to shareholders in lieu
of cash.
a) Stock split b) Bonus shares
c) Extradividend d) Regular dividend

4) ratio measures a firm’s ability to meet short term obligations.
a) Liquidity b) Leverage c) Profitability d) None of these

5) occurs when there is an increase in number of shares
outstanding by reducing the par value of stock.
a) Stock split b) Regular Dividend
c) Bonus d) Extra Dividend

6) Prepaid Expensesis a
a) Fixed Asset b) Current Asset
c) Debt d) Current Liability

7) If Average Stock is Rs. 2,00,000 and opening stock is Rs. 1,80,000 then
closing stock is Rs.
a) 2,00,000 b) 1,80,000 c¢) 1,50,000 d) 2,20,000

8) If Reserve and Surplus is Rs. 5,00,000 and Capital is Rs. 10,00,000 then,
Reserve and Surplus to capital ratio will be

a) 2 b) 0.1 c) 0.5 d) None of the above
P.T.O.
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1. b) Fillin the blanks : 8
Net Sales

1) Working Capital Turnover Ratio =

2) Net Profit Ratio= —— x 100
Sales

3) Ploughed back profits of the company are also known as

CurrentAsset— Inventory

4) Acid Test Ratio =

5) regulates the operations of primary and secondary markets
in India.

6) Earning Price Ratio = Earning per share

Average Debtors y

7) Debtors Turnover Ratio = 365

8) In capital budgeting, Pl stands for

2. a) The share of a growing company is currently selling for Rs. 100. It wants to
finance its capital expenditures of Rs. 100 million either by retained earnings
or selling new shares.

If the company sells new shares, the issue price will be Rs. 95. The dividend
per share next year is Rs. 4.75 and it is expected to grow at 6%.

Calculate :
i) cost of internal equity
ii) cost of external equity.

b) Write short note (any two) : 8
i) Bombay Stock Exchange
ii) Retained Earnings
iii) Liquidity Ratios.
3. a) Write short note (any two) : 8
i) Capital Market
i) Bonus Shares
iii) Capital Budgeting.
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b) i) Dividend per share of last year is Rs. 5 and expected to grow at the rate
of 5%. Calculate the dividend of current year. 4

i) A company issues 10 percentirredeemable preference shares. Face value
per share is Rs. 100 but the issue price is Rs. 95.

What is the cost of preference shares ? What is the cost if the issue price
is Rs. 105 ? 4

4. Explain the Capital Structure Theories. 16
OR

4. Findout:

i) Sales
i) COGS
ii) Debtors
Closing stock
Creditors.
Debtors Velocity = 3 months
Stock Velocity = 8 months
Creditors Velocity = 2 months
Gross Profit Ratio = 25 percent
Gross Profit = Rs. 4,00,000
Bills Receivable = Rs. 25,000
Bills Payable = Rs. 10,000

)
iii)
iv)
v)

Closing stock of the year is Rs. 10,000 above the opening stock. 16
5. Explain Ratio Analysis. State the various types of ratios and its significance. 16
OR

5. A company is considering investing in a project that costs Rs. 20,00,000. The
estimated life of project is 5 years. It uses straight line method of depreciation.

Year : 1 2 3 4 5
CFAT (Rs.) : 8,00,000 8,00,000 7,00,000 8,00,000 4,00,000

Calculate :
i) Pay Back Period
i) ARR
iii) NPV at 10%
iv) Profitability index at 10%.
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Seat
No.
B.B.A. — lll (Semester — VI) Examination, 2015
HUMAN RESOURCE MANAGEMENT - I
Day and Date : Thursday, 23-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicates full marks.

1. A) Choose correct alternative from the given alternatives : 8

1) Employer pay gratuity to an employee, under the Payment of Gratuity Act,

A) 1972 B) 1952
C) 1977 D) 1965

2) Which of the following is an essential prerequisite of MBO ?
A) Joint goal setting B) Mid-term review
C) Developing review D) All of the above

3) When the same rate of incentives is paid to the employees for each unit of
goods produced by them, it is called

A) Straight piece rate B) Differential piece rate
C) Task andtime bonus D) None

4) The primary purpose of employee safety programme is to preserve the

employees
A) Mental health B) Physical health
C) Emotional health D) All

5) Wages which are usually positioned above the minimum wages but below
the living wages are described as

A) Real wages B) Fairwages

C) Minimum wages D) Living wages

P.T.O.
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6) The transfer which facilitate the employees in acquiring a wide variety
skills is known as

A) Versatility transfer

B) Shift transfer
C) Remedial transfer
D) Production transfer

7) type of separation of employee, is also called as ‘Golden
Handshake’.
A) Retrenchment B) Lay-off
C) VRS D) None of these

8) method of performance appraisal is used to evaluate
employees future potential.
A) Ranking method B) Check list
C) Psychological Appraisal D) Essay

B) State true or false : 8

1

) Lay-off is permanent separation of employee from employer.

2) The benefit of P.F. and Gratuity are not applicable to those who takes VRS.
3) Remedial transfer is initiated to correct the wrong placements.

)

4) Health and safety benefits are being provided to those who shows their
better performance in job.

5) The purpose of exit policy is to obtain confidential feedback from employees
that are terminating their employment.

6) Dry promotion initiated with increment in responsibility, status and pay.
7) ESOP stands for Employer Stock Ownership Programme.

8) The minimum bonus payable under the Payment of Bonus Act, 1965 is
8.33% of salary.
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2. Write short notes (any 2) :
a) Old age and retirement benefits
b) Measures of accident prevention.

c) Voluntary Retirement Scheme.

3. Write short notes (any 2) :
A) Variable compensation
B) Exit Policy
C) Promotion and Demotion.
4. Discuss the various components of Remuneration. Explain the factors affecting
wage and salary levels.
OR
What is employee separation ? State and explain the different forms of employee
separation.
5. What is performance appraisal ? State and explain the methods of performance
appraisal.
OR

What are the factors influencing employee benefits and services ? Explain
employee health and safety benefits.

16

16

16

16

16

16
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Seat
No.

B.B.A. — | (Semester — I) Examination, 2015
BUSINESS ORGANISATION AND SYSTEMS (New C.G.P.A. Pattern)

Day and Date : Friday, 24-4-2015 Max. Marks : 70
Time :11.00 a.m. t0 2.00 p.m.

Instructions : 1) All questions arecompulsory.
2) Figures to the right indicates full marks.

1. A) Select the correct alternatives : 7
1) Import and Export trade is also called trade.
a) Home b) Foreign c) Re-export d) None
2) Insurance services is the part of industry.
a) Extractive b) Service c) Genetic d) Construction
3) Personaltouch with customerisin firm of business organisation.
a) Sole-trading b) Co-operative
c) Companies d) Partnership firm
4) is the fastest mode of transportation.
a) Water b) Air c) Road d) None of these
5) A comes in direct contact with consumers.
a) Wholesaler b) Producers
c) Retailer d) None of these
6) If raw material supplier merge with product makers then that kind of merger
is known as
a) Horizontal b) Vertical c) Both d) None of these
7) SEZ stands for
a) Special Expert Zone b) Special Economic Zone
c) Special Enterprise Zone d) Starting Entrepreneur Zone

P.T.O.
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B) State the following statement True or False:
1) Super market is small scale retail business.

2) Partnership firm is consist of more than two partners.

3) The business which is done inside the country is known as Foreign Trade.

5) The liability of shareholder of joint stock company is unlimited.

)
)
)
4) A wholesaler sells a large variety of goods.
)
6) Creativity refers as introducing something new.
)

7) Financial analysis consist of analysis of location of the unit.

. Write short notes (any 2) :

a) Classification of industry

b) Malls and super markets

c) Partnership firm.

. Write short notes (any 2) :

a) Retail trade

b) Various factors of location section

c) Merger and its types.

. a) Whatis wholesale trade ? Explain its functions and types.
OR

b) What is business ? Discuss in detail the scope of business.

. @) What is sole proprietorship ? Explain its merits and demerits.
OR

b) What is joint stock company ? Explain its merits and demerits.

14

14

14

14
14

14
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Seat
No.
B.B.A. — lll (Semester — VI) Examination, 2015
PRODUCTION MANAGEMENT - Il
Day and Date : Saturday, 25-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicates full marks.

1. A) Choose the correct alternatives : 8
1) implies formulation, co-ordination and determination of
activities in a manufacturing system.
a) Production planning b) Production control
c) Coding d) Dispatching
2) ABC analysis is one of the technique of management.
a) Inventory b) Financial c) Marketing  d) Production
3) The terminventory includes items.
a) Raw material b) Semi-finished
c) Finished d) All of these
4) is a function of purchase management.
a) Make on buy decision b) TQM
c) JIT d) Kaizen
5) refers to the sum of the attributes on properties that describes
a product.
a) Features b) Quality c) Weight d) Process
6) handling is one of the important activities in stores.
a) Machine b) Material c) Money d) None of these
7) conveyors generally used in assembly line production.
a) Chain b) Belt c) Spiral d) None of these
8) A broader meaning of makes it a managerial activity which
goes beyond the simple act of buying.
a) Selling b) Depreciation c¢) Holding d) Purchasing

P.T.O.
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B) State the following statements are true or false : 8
1) To ensure supply of quality material is the objective of purchasing
management.

2) Receiving and inspection operation relates to the production planning and
control.

3) Storage refers to physical act of storing on housing particular materials.

4) The term production planning includes raw material, work-in-process,
finished goods etc.

5) VED analysis stands for very effective development.
6) Master production schedule is an example of operation management.
7) 1SO is the acronym for Indian organisation for standardisation.

)

8) Overhead electric cranes are particularly useful for loading and unloading
of heavy items with box bodies.

2. Write short notes : 16
a) ABC analysis
b) Objectives of purchasing department.

3. Write short notes : 16
a) EOQ analysis
b) TQM.
4. a) Define inventory management. Explain its functions and principles. 16
OR
b) Explain the various principles while selecting material handling equipments
and discuss the different types of equipments. 16

5. a) Define stores management. What is the procedure of issuing of materials
from stores. 16

OR
b) Define production planning and control. Explain its functions. 16
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Seat
No.
B.B.A. — | (Semester - |) (Old) Examination, 2015
PRINCIPLES OF MANAGEMENT
Day and Date : Wednesday, 15-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Choose correct alternative from the given alternatives : 8
1) ‘Need-Hierarchy theory’ of motivation is developed by
a) Ouchi b) Abrahan Maslow

c) Herzberg d) Mc Greger

2) Leader believing in participative decision marking is called as
leadership.

a) Democratic b) Autocratic c) Free-rein d) Formal

3) level of management frames strategies for whole
organisation.

a) Lower b) Middle c) Top d) None
4) The first step in control process is

a) Measuring performance b) Corrective action

c) Establishing standard d) None of these

5) is the task of planning, organising, co-ordinating, motivating,
and controlling efforts of others towards a specific task.

a) Staffing b) Selection c) Motivating  d) Management
6) is the right to give orders and power to exact obedience.
a) Authority b) Responsibility
c) Planning d) Controlling
7) is the primary function of management.
a) Organising b) Planning c) Directing d) Controlling
8) Following is standing use plan
a) Budget b) Schedule c) Mission d) None of these

P.T.O.
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B) Fill in the blanks :

1) Appreciation and sense of security of job are the examples of
incentives.

2) Managementis an art as well as

3) Theory ‘X’ people are having attitude towards work.

NN

type of control is exercised after completion of an activity.

6) Every authority must have corresponding

7) Projectisa type of plan.

)
)
)
5) Middle level management act as a link between
)
)
)

8) Authority flows from

2. Write short notes :
A) Planning

B) Maslows need hierarchy theory of motivation.

3. Write short notes :
A) Importance of management.

B) Power and authority.

4. What is motivation ? Explain the financial and non-financial incentives of
motivation.

OR

What is controlling ? Explain the various steps in control process.

5. Define management. Explain in detail the level of management with its functions.
OR

What is leadership ? Explain in detail the different leadership styles.

16

16

16

16

16
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Seat
No.
B.B.A. — | (Semester — |) (Old) Examination, 2015
BUSINESS COMMUNICATION (Paper - 1)
Day and Date : Friday, 17-4-2015 Max. Marks : 80

Time : 11.00 a.m. t0 2.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. A) Select correct alternative : 8
1) means the medium through which the message passes.
a) Sender b) Communication channel
c) Receiver d) None
2) is the basic principle of communication.
a) Clarity b) Result
c) Receiving d) None
3) Defects of mediumis a type of barrier.
a) Semantic b) Physical
c) Psychological d) None
4) A letter begin with an indication of need.
a) Reply b) Quota
c) Enquiry d) None
5) is the quality of voice.
a) Tone b) Words
c) Audibility d) None
6) A may be either written or oral.
a) Report b) Communication
C) Letter d) None
7) communication is not a effective in large gatherings.
a) Face toface b) Oral
c) Written d) None

P.T.O.
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8) The of a letter is as important as its contents.
a) Function b) Physical appearance
c) Planning d) None
B) State whetherTrueorFalse: 8

1) Minutes are not precise.

2) Your attitude is not necessary in business letter.

3) Periodical report is not prepared at regular intervals.

4) Written communication is accurate and precise.

5) Covering letter is not important with the biodata.

6) Special reports are related to a single situations.

7) Telephonic conversation is called as face to face communication.
8) Glossary is the list of technical words and in the report.

2. Write short notes : 16

A) Objectives of Communication.

B) Written communication.

3. Write short notes : 16
A) Functions of business letters.
B) Meetings.

4. Define communication. Explain process of communication and its importance. 16

OR
4. Draft the notice, agenda and minutes of the first annual general meeting.

5. Explain types of communication. 16
OR
5. Prepare your resume with a covering letter for applying in companies. 16
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Seat
No.
B.B.A. — | (Semester — I) Examination, 2015
FINANCIAL ACCOUNTING (Old)
Day and Date : Monday, 20-4-2015 Max. Marks : 80

Time: 11.00 a.m. t0 2.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to right indicate full marks.
3) Use of calculators is allowed.

1. A) Select the correct alternative : 8

1) According to which concept, proprietor of a business is treated as a creditors
to the extent of his capital

a) Money measurement b) Cost
c) Dual aspect d) Business entity
2) Trading accountis a account.
a) Personal b) Real c) Nominal d) Expenses

3) A person who owes money to the firm is called
a) Debtors b) Creditors c) Owners d) Bankers

4) In cashbooks “C” means

a) Cash b) Column c) Credit d) Contra
5) Small payments are entered in

a) Simple cashbook b) Petty cashbook

c) Double column cashbook d) Three column cashbook

6) Direct expenses are debited in the
a) Balance Sheet b) Trial Balance

c) Profit and Loss account d) Trading account
P.T.O.
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7) Reducing balance method is also called
a) Straight line method b) Written down value method
¢) Annuity method d) Depreciation fund method

8) Estimated sale value of an asset at the end of its economic life is known
as

a) Purchase value b) Market value
c) Written down value d) Residual value
B) Fill in the blanks : 8

1) Bankloan accountis a account.

2) The process of recording transactions in a journal is known as

3) Cash book is prepared on the basis of and

4) Petty cash book is classified as and

Ol

6) Overdraft as per cash books means a balance.

7) Prepaid expenses shows balance.

)
)
)
) is a process of transferring journal entry to ledger.
)
)
)

8) The opening stock is debited to Alc.

2. a) Explain accounting convention disclosure and consistency. 8
b) Golden rules of Accounting. 8

3. a) Enter the following transactions in a simple cash book of Shri Navinchand. 8
Date Particulars
2001 Feb.
1 Opening cash balance Rs. 36,000/-
Introduced further cash Rs. 25,000/- in to the business
Deposited Rs. 24,000/- in to bank
Received Rs. 21,000/- from Madhukar on account
Cash purchases Rs. 27,000/-
Purchased furniture for office use for Rs. 12,000/-
10 Cash sales Rs. 24,000/-
11 Paid Rs. 2,000/- to Anita on account

© N o B~ DN
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15
20
24
27

Paid salaries to staff Rs. 11,500/-

Paid rent Rs. 1,150/- to landlord

Received Rs. 1,500/- as commission

Paid Rs. 1,200/- as insurance premium on the life of the proprietor.

b) Discuss the different reasons for difference in balance shown in cash book
under the bank column and balance shown in the pass book on any particular

date.

4. M/s Mallikarjun, purchased on machinery on 15t April 2002, for Rs. 47,000. And
spent Rs. 3,000 on its creation. On 15t Oct. 2002 additional machinery costing Rs.
5,000 was purchased. On 15t July 2003 the machinery purchased on
18t Oct. 2002 was sold for Rs. 3,000 and on the same date a new machinery was
purchased for Rs. 12,000. Depreciation is to be charged at 10% p.a. under straight
line method on 315t March every year. Prepare Machinery A/c and Depreciation A/c
for 3 years from 15t April 2002. Working is part of your answer. 16

OR

Record the following transactions in the Journa of Shri Setty.

Date

Nov. 1

12

14
19
25
26

Particulars

Assets : Cash in hand Rs. 4,000
Stock of goods Rs. 20,000
Office equipments Rs.10,000
Liabilities : Loan Rs. 15,000
Bank overdraft Rs.10,000
Loan Rs. 10,000 repaid with interest Rs. 1,000.
Office equipments costing Rs. 2,000 sold at a profit of Rs. 500

Interest on bank overdraft Rs. 50 and bank charges Rs. 25 charged by
bank.

Printing bill Rs. 450 and conveyance Rs. 250 paid.
Insurance premium paid Rs. 1,000.

Good sold Rs. 5,000 on credit to Raju.

Rs. 4,500 received from Raju in a full settlement.
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5. Explain in brief different accounting conventions. 16
OR

From the following Trial Balances and additional information you are required to
prepare Trading Account, Profit and Loss A/c and Balance Sheet as on
31-3-2008,

Trial Balance as on 31-3-2008

Debit Balances Rs. Credit Balances Rs.
Drawings 12,000  Capital 60,000
Furniture and fixtures 4,000 Return outwards 2,000
10% Govt. bonds 30,000  Sales 1,30,000
Opening stock 20,000 Creditors 12,000
Purchases 80,000 Loans 10,000
Salaries and wages 22,400 Discount 1,600
Debtors 20,400
Return inwards 5,000
Postage and telegram 1,500
Rent, Rates and Insurance 3,600
Bad debt written off 400
Trade expenses 1,200
Interest on loan 450
Printing and stationary 800
Travelling expenses 500
Sundry expenses 300
Cashin hand 2,750
Cash at bank 10,300
Total 2,15,600 Total 2,15,600

Additional information :
1) Closing stock is valued Rs. 21,000.
2) Charge depreciation on furniture and fixture @ 5%.
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Seat
No.
B.B.A. — | (Semester - |) (Old) Examination, 2015
BUSINESS ECONOMICS (Micro)
Day and Date : Wednesday, 22-4-2015 Max. Marks : 80

Time: 11.00 a.m. t02.00 p.m.

Instructions : i) All questions are compulsory.
ii) Neatdiagrams should be drawn wherever it is necessary.
iii) Figures to the right indicate full marks.

1. A) Select the correct alternatives : 8
1) Product differentiation is essential feature of market.
a) Perfect competition b) Monopoly
c) Monopolistic competition d) Monopsony
2) is paid to land for its use in production.
a) Rent b) Wages c) Interest d) Profit
3) Who introduced the concept of the ‘Quasi’ rent ?
a) Prof. J. M. Keynes b) Dr. Alfred Marshall
c) Prof. J. B. Say d) Prof. Samuelson
4) Who introduced the innovation theory of profit ?
a) Prof. Hawley b) Prof. Knight
c) Prof. Walker d) Prof. Schumpeter
5) In a perfectly competitive market, a firmis a
a) Price taker b) Price maker
c) Price checker d) Price controller
6) When the marginal utility is zero, total utility is
a) Zero b) Maximum ¢) Minimum d) Negative
7) Who introduced the concept of elasticity of demand ?
a) Prof. A. C. Pigou b) Prof. Samuelson
c) Adam Smith d) Dr. Alfred Marshall
8) Prof. F. B. Hawley presented the theory of profit.
a) Innovation b) Uncertainty c¢) Riskbearing d) Dynamic

P.T.O.



SLR-J-9 N

B) State whether the following statements are True or False : 8
1) Micro economics study aggregate unit.

2) Micro and macro economics these two terms were first presented by
Ragner Frisch.

Utility analysis was propounded by Dr. Alfred Marshall.

Perfectly elastic demand curve is horizontal strt-line.

When the price of pepsi rise, then demand for coke rises.

Normally demand curve slopes upward from right to left.

Wages is a payment for the use of capital in production.

Schumpeter has greatly developed the theory of profit based on uncertainty.

3
4
5
6
7
8

S N N N S N

2. Write short notes : 16
a) Characteristics of business economics.
b) Explain the fixed cost and variable cost.

3. Write short notes : 16
a) Explain the law of demand.
b) Law of diminishing marginal utility.

4. What is elasticity of demand ? Explain the types of price elasticity of demand. 16
OR
Define micro and macro economics. Explain the merits and demerits of micro
economics.
5. Discuss “interest is a reward for parting liquidity” prof. Keynes. 16
OR
What is oligopoly market and features ? Explain the kinked demand curve.
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